X AN >\ ¢ —_—
2 1NEFFr2ABEREFR e == R 2
4 +
AYA .
#1: 9 BER(39.1) #2: 1 THE(31.04) #3: 16 prime(30.77)
1 NS: =Lk sSREEGEH0) 31 12 NS: B2 STRM(BAC) 9 | VP:| 15.52 : 4.48 | Total VP: 31.04 Rank:
EW: E1E¥ SE%(EAC) -9 EW: 2ZF R (BAO) -3| IMP:| 36 18 2
—
# 11 » AKT864 3CW-150 Mean: 5DXW-3 500 10.0 1 |[# 12 » 86 3NE4 -430 Mean: 6HW-2 100 7.0 1
v 98 3SN-3-150 10  4HW-2 100 3.0 1 v QJ86 6HW-150 -210 6HW-1 50 60 9
¢ 92 Dif: 200 NS:1  4CE-2 100 3.0 1 *6 Dif: -480 NS:-6 3HWA4 470 1.0 1
& Q73 IMP: 5 EW:4 3NE-2 100 3.0 1 & QJT943 IMP: -10 EW:-6 A 00 6
s Q5 s J93 2SN2 110 3.0 1 |[|a AKQT9 a5 4HW5 450 6.0 1
v AKQJ6 v 74 4CE-1 50 1.0 1 ||w K743 I v AT52 3NE4 430 6.0 1
¢ QJB3 * K5 3NW-1 50 1.0 1||e9 ¢ AKT74 6HW6 980 -13.0 3
& JT & A86542 3CW-1 50 1.0 1 K8 » A72
F*OVABN 4,72 3CE-1 50 1.0 1 o ¢ VBN o J7432
N ~~~1~ ¢T532 A 00 6||N ~~~~~ v 9
S ~~~ 1~ ¢AT874 4SN-2 4100 30 1||S ~~~~~ ¢ QJ8532
E 2~2~1 aK9 3CW3 110 30 1||E ~~5~6 %6
W 2 ~2~1 2SN-2 4100 -3.0 1 ~~5~5
2HW2 110 -3.0 1
3SN-3 150 -40 1
3HW3 140  -40 1
2HW4 470 50 1
# 13 » J76 3SW4 -170 Mean: 2HS2 110 120 1 ||# 14 o T987 4SE-150 Mean: 5SE-2 100 30 1
v?2 5CXN-3 -800 -600 3Sw4 170 100 1 v AK3 5SE-2100 -10  4SE-1 50 20 11
* T8 Dif: 630 NS:10 A 00 6 * K Dif: -50 NS:2 A 00 6
& QJ86532 IMP: 12 EW:5 4sw4 620 -1.0 7 & K5432 IMP: -2 EW:-3 3SE3 140 40 3
& AK954 N ~ QT82 4SE4 620 1.0 2 ||a a AKQJ543 4SE4 420 9.0 1
v 83 v QT76 4SE5 650 -20 1 ||e QJT9875 v6
+ KQ5 + ¢ A762 3NE5 -660 -2.0 1 ¢ AJB52 ¢ 73
& AT7 a9 5CXN-3  -800 5.0 1 |[|a&7 » A96
®OVAN 3 4SXW4 790 -50 1 *OVAN 462
N 2~~~ ~ @« AKJ954 5HXS-4 -1100 110 1 [N 2~~~ ~ ¢ 42
S 2 ~~~~ ¢J943 S 2~~~~ ¢QT94
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 4SXN-1 -200 Mean: 3DS3 110 9.0 1 ||# 16 s J974 4SE-3 300 Mean: 4SE-3 300 11.0 1
v 3CE-150 -260 5CW-2 100 80 1 96 4SE-1100 -210 4SE-2 200 9.0 1
+ KQ6 Dif: -250 NS:2 3CW-1 50 70 1 ¢ AQT32 Dif: 200 NS:11  4SE-1 100 7.0 1
& QT3 IMP: -6 EW:-7 3CE-1 50 70 1 » 98 IMP: 5 EW:-7 2HS-1 50 40 1
& AB52 » 98 4SN-1 100 40 1 ||s KQ83 # T652 3CXS-1 100 3.0 1
v4 v A98762 3SN-1 100 40 2 ||v QJ8 — v AKT 2HW2 110 3.0 1
o AJT ¢ 95 4SXN-1 200 20 1 ||e 865 * KJ9 1NE2 120 3.0 3
& AK954 » J76 3SN-2 200 20 2 ||a 753 » AQT 1NE3 4150 2.0 1
FOVAN A 00 6 o OVABN LA A 00 6
N ~2~1~ ¢ KQJT53 4SN-3 300 10 1[N 1~~~ ~ & 75432 4CXS-2 300 -3.0 1
S ~2~1~ 487432 3NN-5 500 60 1||S 1 ~~~~ ¢74 3NE4 630 9.0 1
E 2~~~1 482 3HXS-2 500 60 2 ||E ~~~22 & KJB42 3NE3 600 9.0 4
W 3~~~ ~ 4SXN-3 800 -11.0 1 ~~~21
5HXS-4 1100 -13.0 1
# 17 & 98652 4HW4 -420 Mean: 4HW-1 50 80 2 ||# 18 a7 4SXE-1 100 Mean: 4HN4 620 120 1
v AQ5 4HW4 -420 -300  3SN-1 -50 6.0 1 v AKQJ9 4SXW-1100 20 3HN4 170 40 1
¢ 82 Dif: 0 NS:-3 3HE3 140 40 1 ¢ 9754 Dif: 0 NS:2 4SXW-1 100 20 1
& KQ5 IMP: 0 EW:3 2HW4 470 40 1 & AK4 IMP: 0 EW:-2 4SXE-1 100 20 4
a7 & AT43 A 00 6 ||as K52 & QJT963 4SE-1 50 1.0 1
v KJ8732 v T96 4HW4 420 -3.0 11| |e 5432 | CX:) 3SE-1 50 1.0 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 A 00 6
& AJ94 » 62 » 82 » QJ5 5HN-1 100 -3.0 2
P VAN ,KQJ oo VAN 4, A8 3HN-1 100 -3.0 1
N ~~~1~ w4 N 4~3~2 ¢T76 3SE3 140 40 3
S ~~~1~ ¢JT743 S 4~3~2 63 4HN-2 200 -6.0 1
E ~~4~1 &T873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 2SW-4 400 Mean: 5CS5 400 60 1 |([|# 20 & AJT853 3SN3 140 Mean: 3SN3 140 60 1
v AKJ 3CS5150 180  3NS3 400 60 1 vwT 2HW5 -200 -110  2SN3 140 6.0 1
+ Q954 Dif: 250 NS:6 2SW-4 400 60 2 ¢ T7 Dif: 340 NS:6 2SN2 110 60 5
%6 IMP: 6 EW:1 2SW-3 300 30 1 » KJ84 IMP: 8 EW:3 2CN3 110 60 1
& Q96532 a J7 A 00 6 ||aKQ72 a9 A 00 6
v Q9 v 87642 2DN6 170 0.0 1 ||v KJ3 _I_ v Q9872 3DW3 110 0.0 1
¢ J2 * KT7 3CS5 150 1.0 1 ||e K8654 * A93 2NE2 4120 0.0 1
® QJ3 » A92 2DN5 150 1.0 1 ||s » 9765 3HE4 470 220 1
FOVAN , 3DN3 110 20 1 *eVAN 4,064 2HW5 200 -3.0 1
N 44~~3 ¢T53 3CS4 130 20 1 [|N 2 ~~2 ~ v A654 2SN-3 300 -5.0 1
S 34 ~~2 ¢A863 3CN4 130 20 1(|S 2~~2~ ¢QJ2 3NW3 -600 -10.0 1
E ~~~~~ & KT8754 2NN2 120 20 1||E ~34~1 &QT32 4HE4 620 -11.0 2
W o~~~ ~ ~ 2DN3 110 20 2 ~34~1
5DN-1 50 6.0 1
3NS-1 50 6.0 1




X AN >\ ¢ —_—
2 1NEFFr2ABEREFR e == R 2
4 +
AYA .
#1: 9 BER(39.1) #2: 1 THE(31.04) #3: 16 prime(30.77)
2 NS: 22T EHRAGEHO) 23 1 1 NS: Bt EFE(BAC) -35 VP:| 19.76 : 0.24 | Total VP: 24.24 Rank:
EW: == BSZfEEAC) 35 EW: $Z3555 [RER(FH0) -2 IMP:| 52 : 7 6
—
# 11 » AKT864 3CW3 -110 Mean: 5DXW-3 500 10.0 1 |[# 12 » 86 6HW-2 100 Mean: 6HW-2 100 7.0 1
v 98 3NW-150 10  4HW-2 100 3.0 1 v QJ86 6HW6 -980 -210  6HW-1 50 60 9
¢ 92 Dif: -160 NS:-3 4CE-2 100 3.0 1 *6 Dif: 1080 NS:7 3HWA4 470 1.0 1
& Q73 IMP: -4 EW:-1 3NE-2 100 3.0 1 & QJT943 IMP: 14 EW:13 A 00 6
s Q5 s J93 2SN2 110 3.0 1 |[|a AKQT9 a5 4HW5 450 6.0 1
v AKQJ6 v 74 4CE-1 50 1.0 1 ||w K743 I v AT52 3NE4 430 6.0 1
¢ QJB3 * K5 3NW-1 50 1.0 1||e9 ¢ AKT74 6HW6 980 -13.0 3
& JT & A86542 3CW-1 50 10 1 K8 » A72
F*OVABN 4,72 3CE-1 50 1.0 1 o ¢ VBN o J7432
N ~~~1~ ¢T532 A 00 6||N ~~~~~ v 9
S ~~~ 1~ ¢AT874 4SN-2 4100 30 1||S ~~~~~ ¢ QJ8532
E 2~2~1 aK9 3CW3 110 30 1||E ~~5~6 %6
W 2 ~2~1 2SN-2 4100 -3.0 1 ~~5~5
2HW2 110 -3.0 1
3SN-3 150 -40 1
3HW3 140  -40 1
2HW4 470 50 1
# 13 » J76 4SE4 -620 Mean: 2HS2 110 120 1 ||# 14 o T987 4SE-150 Mean: 5SE-2 100 30 1
v?2 4SE5 -650 -600 3SW4 470 100 1 v AK3 4SE-150 -10  4SE-1 50 20 1
* T8 Dif: 30 NS:-1 A 00 6 * K Dif: 0 NS:2 A 00 6
& QJ86532 IMP: 1 EW:2 4sw4 620 -1.0 7 & K5432 IMP: 0 EW:-2 3SE3 140 40 3
& AK954 N ~ QT82 4SE4 620 1.0 2 ||a a AKQJ543 4SE4 420 9.0 1
v 83 v QT76 4SE5 650 -20 1 ||e QJT9875 v6
+ KQ5 + ¢ A762 3NE5 -660 -2.0 1 ¢ AJB52 ¢ 73
& AT7 a9 5CXN-3  -800 5.0 1 |[|a&7 » A96
®OVAN 3 4SXW4 790 -50 1 *OVAN 462
N 2~~~ ~ @« AKJ954 5HXS-4 -1100 110 1 [N 2~~~ ~ ¢ 42
S 2 ~~~~ ¢J943 S 2~~~~ ¢QT94
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 3DS3 110 Mean: 3DS3 110 9.0 1 ||# 16 s J974 1NE2 -120 Mean: 4SE-3 300 11.0 1
v 5HXS-4 -1100 -260  5CW-2 100 80 1 v 96 1NE3 -150 -210  4SE-2 200 9.0 1
+ KQ6 Dif: 1210 NS:9 3CW-1 50 70 1 ¢ AQT32 Dif: 30 NS:3 4SE-1 100 7.0 1
& QT3 IMP: 15 EW:13 3CE-1 50 70 1 » 98 IMP: 1 EW:-2 2HS-1 50 40 1
& AB52 » 98 4SN-1 100 40 1 ||s KQ83 # T652 3CXS-1 100 3.0 1
v4 v A98762 3SN-1 100 40 2 ||v QJ8 — v AKT 2HW2 110 3.0 1
o AJT ¢ 95 4SXN-1 200 20 1 ||e 865 * KJ9 1NE2 120 3.0 3
& AK954 » J76 3SN-2 200 20 2 ||a 753 » AQT 1NE3 4150 2.0 1
FOVAN A 00 6 o OVABN LA A 00 6
N ~2~1~ ¢ KQJT53 4SN-3 300 10 1[N 1~~~ ~ & 75432 4CXS-2 300 -3.0 1
S ~2~1~ 487432 3NN-5 500 60 1||S 1 ~~~~ ¢74 3NE4 630 9.0 1
E 2~~~1 482 3HXS-2 500 60 2 ||E ~~~22 &KJ642 3NE3 600 9.0 4
W 3~~~ ~ 4SXN-3 800 -11.0 1 ~~~21
5HXS-4 1100 -13.0 1
# 17 & 98652 4HW-1 50 Mean: 4HW-1 50 80 2 ||# 18 a7 4HN-2 -200 Mean: 4HN4 620 120 1
v AQ5 4HW4 -420 -300  3SN-1 50 6.0 1 v AKQJ9 5HN-1-100 20  3HN4 170 40 1
¢ 82 Dif: 470 NS:8 3HE3 140 40 1 ¢ 9754 Dif: -100 NS:-6 4SXW-1 100 20 1
& KQ5 IMP: 10 EW:3 2HW4 470 40 1 & AK4 IMP: -3 EW:3 4SXE-1 100 20 4
a7 & AT43 A 00 6 ||as K52 & QJT963 4SE-1 50 1.0 1
v KJ8732 v T96 4HW4 420 -3.0 11| |e 5432 | CX:) 3SE-1 50 1.0 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 A 00 6
& AJ94 » 62 » 82 » QJ5 5HN-1 100 -3.0 2
P VAN ,KQJ oo VAN 4, A8 3HN-1 100 -3.0 1
N ~~~1~ w4 N 4~3~2 ¢T76 3SE3 140 40 3
S ~~~1~ ¢JT743 S 4~3~2 63 4HN-2 200 -6.0 1
E ~~4~1 &T873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 3CN4 130 Mean: 5CS5 400 60 1 |([|# 20 & AJT853 2SN2 110 Mean: 3SN3 140 60 1
v AKJ 3NS-1-50 180  3NS3 400 6.0 1 v T 2NE2 -120 -110  2SN3 140 6.0 1
+ Q954 Dif: 180 NS:-2 2SwW-4 400 60 2 ¢ T7 Dif: 230 NS:6 2SN2 110 60 5
%6 IMP: 5 EW:6 2SW-3 300 30 1 » KJ84 IMP: 6 EW:0 2CN3 110 60 1
& Q96532 a J7 A 00 6 ||aKQ72 a9 A 00 6
v Q9 v 87642 2DN6 170 0.0 1 ||v KJ3 _I_ v Q9872 3DW3 110 0.0 1
¢ J2 * KT7 3CS5 150 1.0 1 ||e K8654 * A93 2NE2 4120 0.0 1
® QJ3 » A92 2DN5 150 1.0 1 ||s » 9765 3HE4 470 220 1
FOVAN , 3DN3 110 20 1 *eVAN 4,064 2HW5 200 -3.0 1
N 44~~3 ¢T53 3CS4 130 20 1 [|N 2 ~~2 ~ v A654 2SN-3 300 -5.0 1
S 34 ~~2 ¢A863 3CN4 130 20 1(|S 2~~2~ ¢QJ2 3NW3 -600 -10.0 1
E ~~~~~ & KT8754 2NN2 120 20 1||E ~34~1 &QT32 4HE4 620 -11.0 2
W o~~~ ~ ~ 2DN3 110 20 2 ~34~1
5DN-1 50 6.0 1
3NS-1 50 6.0 1




X AN >\ ¢ —_—
2 1NEFFr2ABEREFR e == R 2
4 +
AYA .
#1: 9 BER(39.1) #2: 1 THE(31.04) #3: 16 prime(30.77)
3 NS: &£F2 FHEEGHO) 33 10 NS: 22805 A H(BAC) -24 VP:| 20.00 : 0.00 Total VP: 20.78 Rank:
EW: Z$E5 SFESFIEAC) 24 EW: 3§55 PR5a%5(BAO) -3| IMP:| 60 8 7
—
# 11 » AKT864 3CE-150 Mean: 5DXW-3 500 10.0 1 |[|# 12 » 86 3HW4 -170 Mean: 6HW-2 100 7.0 1
v 98 4CE-2100 10  4HW-2 100 3.0 1 v QJ86 6HW-150 -210 6HW-1 50 60 9
¢ 92 Dif: -50 NS:1  4CE-2 100 3.0 1 *6 Dif: -220 NS:1  3HW4 470 1.0 1
& Q73 IMP: -2 EW:-3 3NE-2 100 3.0 1 & QJT943 IMP: -6 EW:6 A 00 6
s Q5 s J93 2SN2 110 3.0 1 |[|a AKQT9 a5 4HW5 450 6.0 1
v AKQJ6 v 74 4CE-1 50 1.0 1 ||w K743 I v AT52 3NE4 430 6.0 1
¢ QJB3 * K5 3NW-1 50 1.0 1||e9 ¢ AKT74 6HW6 980 -13.0 3
& JT & A86542 3CW-1 50 1.0 1 K8 » A72
F*OVABN 4,72 3CE-1 50 1.0 1 o ¢ VBN o J7432
N ~~~1~ ¢T532 A 00 6||N ~~~~~ v 9
S ~~~ 1~ ¢AT874 4SN-2 4100 30 1||S ~~~~~ ¢ QJ8532
E 2~2~1 aK9 3CW3 110 30 1||E ~~5~6 %6
W 2 ~2~1 2SN-2 4100 -3.0 1 ~~5~5
2HW2 110 -3.0 1
3SN-3 150 -40 1
3HW3 140  -40 1
2HW4 470 50 1
# 13 » J76 2HS2 110 Mean: 2HS2 110 120 1 ||# 14 o T987 3SE3 -140 Mean: 5SE-2 100 30 1
v?2 4SW4 -620 -600 3SW4 170 100 1 v AK3 4SE4 -420 -10  4SE-1 50 20 1
* T8 Dif: 730 NS:12 A 00 6 * K Dif: 280 NS:-4 A 00 6
& QJ86532 IMP: 12 EW:1 4sw4 620 -1.0 7 & K5432 IMP: 7 EW:9 3SE3 140 40 3
& AK954 N ~ QT82 4SE4 620 1.0 2 ||a a AKQJ543 4SE4 420 9.0 1
v 83 v QT76 4SE5 650 -20 1 ||e QJT9875 v6
+ KQ5 + ¢ A762 3NE5 -660 -2.0 1 ¢ AJB52 ¢ 73
& AT7 a9 5CXN-3  -800 5.0 1 |[|a&7 » A96
®OVAN 3 4SXW4 790 -50 1 *OVAN 462
N 2~~~ ~ @« AKJ954 5HXS-4 -1100 110 1 [N 2~~~ ~ ¢ 42
S 2~~~ ~ ¢J943 S 2~~~~ ¢ QT984
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 4SN-1-100 Mean: 3DS3 110 9.0 1 ||# 16 s J974 2HW2 -110 Mean: 4SE-3 300 11.0 1
v 3SN-2-200 -260 5CW-2 100 80 1 96 3NE4 -630 -210 4SE-2 200 9.0 1
+ KQ6 Dif: 100 NS:4 3CW-1 50 70 1 ¢ AQT32 Dif: 520 NS:3 4SE-1 100 7.0 1
& QT3 IMP: 3 EW:-2 3CE-1 50 70 1 » 98 IMP: 11 EW:9 2HS-1 50 40 1
& AB52 » 98 4SN-1 100 40 1 ||s KQ83 # T652 3CXS-1 100 3.0 1
v4 v A98762 3SN-1 100 40 2 ||v QJ8 — v AKT 2HW2 110 3.0 1
o AJT ¢ 95 4SXN-1 200 20 1 ||e 865 * KJ9 1NE2 120 3.0 3
& AK954 » J76 3SN-2 200 20 2 ||a 753 » AQT 1NE3 4150 2.0 1
FOVAN A 00 6 o OVABN LA A 00 6
N ~2~1~ ¢ KQJT53 4SN-3 300 10 1[N 1~~~ ~ & 75432 4CXS-2 300 -3.0 1
S ~2~1~ 487432 3NN-5 500 60 1||S 1 ~~~~ ¢74 3NE4 630 9.0 1
E 2~~~1 482 3HXS-2 500 60 2 ||E ~~~22 &KJ642 3NE3 600 9.0 4
W 3~~~ ~ 4SXN-3 800 -11.0 1 ~~~21
5HXS-4 1100 -13.0 1
# 17 & 98652 3SN-1-50 Mean: 4HW-1 50 80 2 ||# 18 a7 3SE-1 50 Mean: 4HN4 620 120 1
v AQ5 2HW4 -170 -300  3SN-1 50 6.0 1 v AKQJ9 3HN-1-100 20  3HN4 170 40 1
¢ 82 Dif: 120 NS:6 3HE3 140 40 1 ¢ 9754 Dif: 150 NS:1  4SXW-1 100 20 1
& KQ5 IMP: 3 EW:-4 2HW4 470 40 1 & AK4 IMP: 4 EW:3 4SXE-1 100 20 4
a7 & AT43 A 00 6 ||as K52 & QJT963 4SE-1 50 1.0 1
v KJ8732 v T96 4HW4 420 -3.0 11| |e 5432 | CX:) 3SE-1 50 1.0 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 A 00 6
& AJ94 » 62 » 82 » QJ5 5HN-1 100 -3.0 2
P VAN ,KQJ oo VAN 4, A8 3HN-1 100 -3.0 1
N ~~~1~ w4 N 4~3~2 ¢T76 3SE3 140 40 3
S ~~~1~ ¢JT743 S 4~3~2 63 4HN-2 200 -6.0 1
E ~~4~1 &T873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 2SW-3 300 Mean: 5CS5 400 60 1 |([|# 20 & AJT853 2SN2 110 Mean: 3SN3 140 60 1
v AKJ 5DN-1-50 180  3NS3 400 6.0 1 v T 4HE4 -620 -110  2SN3 140 6.0 1
+ Q954 Dif: 350 NS:3 2SW-4 400 60 2 ¢ T7 Dif: 730 NS:6 2SN2 110 60 5
%6 IMP: 8 EW:6 2SW-3 300 30 1 » KJ84 IMP: 12 EW:11 2CN3 110 60 1
& Q96532 a J7 A 00 6 ||aKQ72 a9 A 00 6
v Q9 v 87642 2DN6 170 0.0 1 ||v KJ3 _I_ v Q9872 3DW3 110 0.0 1
¢ J2 * KT7 3CS5 150 1.0 1 ||e K8654 * A93 2NE2 4120 0.0 1
® QJ3 » A92 2DN5 150 1.0 1 ||s » 9765 3HE4 470 220 1
FOVAN , 3DN3 110 20 1 *eVAN 4,064 2HW5 200 -3.0 1
N 44~~3 ¢T53 3CS4 130 20 1 [|N 2 ~~2 ~ v A654 2SN-3 300 -5.0 1
S 34 ~~2 ¢A863 3CN4 130 20 1(|S 2~~2~ ¢QJ2 3NW3 -600 -10.0 1
E ~~~~~ & KT8754 2NN2 120 20 1||E ~34~1 &QT32 4HE4 620 -11.0 2
W o~~~ ~ ~ 2DN3 110 20 2 ~34~1
5DN-1 50 6.0 1
3NS-1 50 6.0 1




X AN >\ ¢ —_—
2 1NEFFr2ABEREFR e == R 2
4 +
AYA .
#1: 9 BER(39.1) #2: 1 THE(31.04) #3: 16 prime(30.77)
4 NS: B2 JeEiGEO) -29 9 NS: #B{E3E #FER(EAC) 8 VP:| 0.90 19.10 | Total VP: 20.12 Rank:
EW: B2z BRZE0MEAC) -8 EW: Z25E78 254 7K(BAO) 29 IMP:| 15 54 8
—
# 11 » AKT864 3HW3 -140 Mean: 5DXW-3 500 10.0 1 |[# 12 » 86 6HWG6 -980 Mean: 6HW-2 100 7.0 1
v 98 4HW-2100 10  4HW-2 100 3.0 1 v QJ86 4HWS5 -450 -210  6HW-1 50 60 9
¢ 92 Dif: -240 NS:-4 4CE-2 100 3.0 1 *6 Dif: -530 NS:-13 3HW4 470 1.0 1
& Q73 IMP: -6 EW:-3 3NE-2 100 3.0 1 & QJT943 IMP: -11 EW:6 A 00 6
s Q5 s J93 2SN2 110 3.0 1 |[|a AKQT9 a5 4HW5 450 6.0 1
v AKQJ6 v 74 4CE-1 50 1.0 1 ||w K743 I v AT52 3NE4 430 6.0 1
¢ QJB3 * K5 3NW-1 50 1.0 1||e9 ¢ AKT74 6HW6 980 -13.0 3
& JT & A86542 3CW-1 50 1.0 1 K8 » A72
F*OVABN 4,72 3CE-1 50 1.0 1 o ¢ VBN o J7432
N ~~~1~ ¢T532 A 00 6||N ~~~~~ v 9
S ~~~ 1~ ¢AT874 4SN-2 4100 30 1||S ~~~~~ ¢ QJ8532
E 2~2~1 aK9 3CW3 110 30 1||E ~~5~6 %6
W 2 ~2~1 2SN-2 4100 -3.0 1 ~~5~5
2HW2 110 -3.0 1
3SN-3 150 -40 1
3HW3 140  -40 1
2HW4 470 50 1
# 13 » J76 3NE5 -660 Mean: 2HS2 110 120 1 ||# 14 o T987 4SE-150 Mean: 5SE-2 100 30 1
v?2 4SW4 -620 -600 3SW4 170 100 1 v AK3 3SE3-140 -10  4SE-1 50 20 11
* T8 Dif: -40 NS:2 A 00 6 * K Dif: 190 NS:2 A 00 6
& QJ86532 IMP: -1 EW:1  4sw4 620 -1.0 7 & K5432 IMP: 5 EW:4 3SE3 140 40 3
& AK954 N ~ QT82 4SE4 620 1.0 2 ||a a AKQJ543 4SE4 420 9.0 1
v 83 v QT76 4SE5 650 -20 1 ||e QJT9875 v6
+ KQ5 + ¢ A762 3NE5 -660 -2.0 1 ¢ AJB52 ¢ 73
& AT7 a9 5CXN-3  -800 5.0 1 |[|a&7 » A96
®OVAN 3 4SXW4 790 -50 1 *OVAN 462
N 2~~~ ~ @« AKJ954 5HXS-4 -1100 110 1 [N 2~~~ ~ ¢ 42
S 2~~~ ~ ¢J943 S 2~~~~ ¢ QT984
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 3NN-5-500 Mean: 3DS3 110 9.0 1 ||# 16 s J974 1NE2 -120 Mean: 4SE-3 300 11.0 1
v 3CW-150 -260 5CW-2 100 80 1 96 3NE3 -600 -210 4SE-2 200 9.0 1
+ KQ6 Dif: -550 NS:-6 3CW-1 50 70 1 ¢ AQT32 Dif: 480 NS:3 4SE-1 100 7.0 1
& QT3 IMP: -11 EW:-7 3CE-1 50 70 1 » 98 IMP: 10 EW:9 2HS-1 50 40 1
& AB52 » 98 4SN-1 100 40 1 ||s KQ83 # T652 3CXS-1 100 3.0 1
v4 v A98762 3SN-1 100 40 2 ||v QJ8 — v AKT 2HW2 110 3.0 1
o AJT ¢ 95 4SXN-1 200 20 1 ||e 865 * KJ9 1NE2 120 3.0 3
& AK954 » J76 3SN-2 200 20 2 ||a 753 » AQT 1NE3 4150 2.0 1
FOVAN A 00 6 o OVABN LA A 00 6
N ~2~1~ ¢ KQJT53 4SN-3 300 10 1[N 1~~~ ~ & 75432 4CXS-2 300 -3.0 1
S ~2~1~ 487432 3NN-5 500 60 1||S 1 ~~~~ ¢74 3NE4 630 9.0 1
E 2~~~1 482 3HXS-2 500 60 2 ||E ~~~22 &KJ642 3NE3 600 9.0 4
W 3~~~ ~ 4SXN-3 800 -11.0 1 ~~~21
5HXS-4 1100 -13.0 1
# 17 & 98652 4HW4 -420 Mean: 4HW-1 50 80 2 ||# 18 a7 3SE3 -140 Mean: 4HN4 620 120 1
v AQ5 4HW-150 -300 3SN-1 -50 60 1 v AKQJ9 3HN4 170 20 3HN4 170 40 1
¢ 82 Dif: -470 NS:-3 3HE3 140 40 1 ¢ 9754 Dif: -310 NS:-4 4SXW-1 100 20 1
& KQ5 IMP: -10 EW:-8 2HW4 470 40 1 & AK4 IMP: -7 EW:-4 4SXE-1 100 20 4
a7 & AT43 A 00 6 ||as K52 & QJT963 4SE-1 50 1.0 1
v KJ8732 v T96 4HW4 420 -3.0 11| |e 5432 | CX:) 3SE-1 50 1.0 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 A 00 6
& AJ94 » 62 » 82 » QJ5 5HN-1 100 -3.0 2
P VAN ,KQJ oo VAN 4, A8 3HN-1 100 -3.0 1
N ~~~1~ w4 N 4~3~2 ¢T76 3SE3 140 40 3
S ~~~1~ ¢JT743 S 4~3~2 63 4HN-2 200 -6.0 1
E ~~4~1 &T873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 3DN3 110 Mean: 5CS5 400 60 1 |([|# 20 & AJT853 3DW3 -110 Mean: 3SN3 140 60 1
v AKJ 2DN6 170 180  3NS3 400 60 1 vwT 2SN3 140 -110  2SN3 140 6.0 1
+ Q954 Dif: -60 NS:-2 2SwW-4 400 60 2 ¢ T7 Dif: -250 NS:0 2SN2 110 60 5
%6 IMP: -2 EW:0 2SW-3 300 30 1 » KJ84 IMP: -6 EW:-6 2CN3 110 60 1
& Q96532 a J7 A 00 6 ||aKQ72 a9 A 00 6
v Q9 v 87642 2DN6 170 0.0 1 ||v KJ3 _I_ v Q9872 3DW3 110 0.0 1
¢ J2 * KT7 3CS5 150 1.0 1 ||e K8654 * A93 2NE2 4120 0.0 1
® QJ3 » A92 2DN5 150 1.0 1 ||s » 9765 3HE4 470 220 1
FOVAN , 3DN3 110 20 1 *eVAN 4,064 2HW5 200 -3.0 1
N 44~~3 ¢T53 3CS4 130 20 1 [|N 2 ~~2 ~ v A654 2SN-3 300 -5.0 1
S 34 ~~2 ¢A863 3CN4 130 20 1(|S 2~~2~ ¢QJ2 3NW3 -600 -10.0 1
E ~~~~~ & KT8754 2NN2 120 20 1||E ~34~1 &QT32 4HE4 620 -11.0 2
W o~~~ ~ ~ 2DN3 110 20 2 ~34~1
5DN-1 50 6.0 1
3NS-1 50 6.0 1




X AN >\ ¢ —_—
2 1NEFFr2ABEREFR e == R 2
4 +
AYA .
#1: 9 BER(39.1) #2: 1 THE(31.04) #3: 16 prime(30.77)
5 NS: BEEAFH REEGHO) -3 1 5 NS: SRR HEEEIC) 1 VP:| 9.23 10.77| Total VP: 15.80 Rank:
EW: FER EHEEEIC) -1 EW: #RE E2E(B0) 3 IMP:| 25 27 18
—
# 11 » AKT864 4SN-2 -100 Mean: 5DXW-3 500 10.0 1 |[# 12 » 86 6HW-1 50 Mean: 6HW-2 100 7.0 1
v 98 2SN2110 10  4HW-2 100 3.0 1 v QJ86 6HW-150 -210 6HW-1 50 60 9
¢ 92 Dif: -210 NS:-3 4CE-2 100 3.0 1 *6 Dif: 0 NS:6 3HW4 470 1.0 1
& Q73 IMP: -5 EW:-3 3NE-2 100 3.0 1 & QJT943 IMP: 0 EW:6 A 00 6
s Q5 s J93 2SN2 110 3.0 1 |[|a AKQT9 a5 4HW5 450 6.0 1
v AKQJ6 v 74 4CE-1 50 1.0 1 ||w K743 I v AT52 3NE4 430 6.0 1
¢ QJB3 * K5 3NW-1 50 1.0 1||e9 ¢ AKT74 6HW6 980 -13.0 3
& JT & A86542 3CW-1 50 1.0 1 K8 » A72
F*OVABN 4,72 3CE-1 50 1.0 1 o ¢ VBN o J7432
N ~~~1~ ¢T532 A 00 6||N ~~~~~ v 9
S ~~~ 1~ ¢AT874 4SN-2 4100 30 1||S ~~~~~ ¢ QJ8532
E 2~2~1 aK9 3CW3 110 30 1||E ~~5~6 %6
W 2 ~2~1 2SN-2 4100 -3.0 1 ~~5~5
2HW2 110 -3.0 1
3SN-3 150 -40 1
3HW3 140  -40 1
2HW4 470 50 1
# 13 o J76 5HXS-4 -1100 Mean: 2HS2 110 120 1 ||# 14 o T987 4SE-150 Mean: 5SE-2 100 30 1
v?2 4SW4 -620 -600 3SW4 170 100 1 v AK3 4SE-150 -10  4SE-1 50 20 1
* T8 Dif: -480 NS:-11 A 00 6 * K Dif: 0 NS:2 A 00 6
& QJ86532 IMP: -10 EW:1  4SwW4 620 -1.0 7 & K5432 IMP: 0 EW:-2 3SE3 140 40 3
& AK954 N ~ QT82 4SE4 620 1.0 2 ||a a AKQJ543 4SE4 420 9.0 1
v 83 v QT76 4SE5 650 -20 1 ||e QJT9875 v6
+ KQ5 + ¢ A762 3NE5 -660 -2.0 1 ¢ AJB52 ¢ 73
& AT7 a9 5CXN-3  -800 5.0 1 |[|a&7 » A96
®OVAN 3 4SXW4 790 -50 1 *OVAN 462
N 2~~~ ~ @« AKJ954 5HXS-4 -1100 110 1 [N 2~~~ ~ ¢ 42
S 2~~~ ~ ¢J943 S 2~~~~ ¢ QT984
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 3HXS-2 -500 Mean: 3DS3 110 9.0 1 ||# 16 s J974 2HS-1 -50 Mean: 4SE-3 300 11.0 1
v 4SXN-3 -800 -260 5CW-2 100 80 1 96 3NE3 -600 -210 4SE-2 200 9.0 1
+ KQ6 Dif: 300 NS:-6 3CW-1 50 70 1 ¢ AQT32 Dif: 550 NS:4 4SE-1 100 7.0 1
& QT3 IMP: 7 EW:11 3CE-1 50 70 1 » 98 IMP: 11 EW:9 2HS-1 50 40 1
& AB52 » 98 4SN-1 100 40 1 ||s KQ83 # T652 3CXS-1 100 3.0 1
v4 v A98762 3SN-1 100 40 2 ||v QJ8 — v AKT 2HW2 110 3.0 1
o AJT ¢ 95 4SXN-1 200 20 1 ||e 865 * KJ9 1NE2 120 3.0 3
& AK954 » J76 3SN-2 200 20 2 ||a 753 » AQT 1NE3 4150 2.0 1
FOVAN A 00 6 o OVABN LA A 00 6
N ~2~1~ ¢ KQJT53 4SN-3 300 10 1[N 1~~~ ~ & 75432 4CXS-2 300 -3.0 1
S ~2~1~ 487432 3NN-5 500 60 1||S 1 ~~~~ ¢74 3NE4 630 9.0 1
E 2~~~1 482 3HXS-2 500 60 2 ||E ~~~22 &KJ642 3NE3 600 9.0 4
W 3~~~ ~ 4SXN-3 800 -11.0 1 ~~~21
5HXS-4 1100 -13.0 1
# 17 & 98652 3HE3 -140 Mean: 4HW-1 50 80 2 ||# 18 a7 5HN-1 -100 Mean: 4HN4 620 120 1
v AQ5 4HW4 -420 -300  3SN-1 -50 6.0 1 v AKQJ9 4SXE-1100 20 3HN4 170 40 1
¢ 82 Dif: 280 NS:4 3HE3 140 40 1 ¢ 9754 Dif: -200 NS:-3 4SXW-1 100 20 1
& KQ5 IMP: 7 EW:3 2HW4 470 40 1 & AK4 IMP: -5 EW:-2 4SXE-1 100 20 4
a7 & AT43 A 00 6 ||as K52 & QJT963 4SE-1 50 1.0 1
v KJ8732 v T96 4HW4 420 -3.0 11| |e 5432 | CX:) 3SE-1 50 1.0 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 A 00 6
& AJ94 » 62 » 82 » QJ5 5HN-1 100 -3.0 2
P VAN ,KQJ oo VAN 4, A8 3HN-1 100 -3.0 1
N ~~~1~ w4 N 4~3~2 ¢T76 3SE3 140 40 3
S ~~~1~ ¢JT743 S 4~3~2 63 4HN-2 200 -6.0 1
E ~~4~1 &T873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 2DN3 110 Mean: 5CS5 400 60 1 |([|# 20 & AJT853 2CN3 110 Mean: 3SN3 140 60 1
v AKJ 3NS3400 180  3NS3 400 60 1 vwT 2SN2 110 -110  2SN3 140 6.0 1
+ Q954 Dif: -290 NS:-2 2SW-4 400 60 2 ¢ T7 Dif: 0 NS:6 2SN2 110 60 5
6 IMP: -7 EW:-6 2SW-3 300 30 1 » KJ84 IMP: 0 EW:-6 2CN3 110 60 1
& Q96532 a J7 A 00 6 ||aKQ72 a9 A 00 6
v Q9 v 87642 2DN6 170 0.0 1 ||v KJ3 _I_ v Q9872 3DW3 110 0.0 1
¢ J2 * KT7 3CS5 150 1.0 1 ||e K8654 * A93 2NE2 4120 0.0 1
® QJ3 » A92 2DN5 150 1.0 1 ||s » 9765 3HE4 470 220 1
FOVAN , 3DN3 110 20 1 *eVAN 4,064 2HW5 200 -3.0 1
N 44~~3 ¢T53 3CS4 130 20 1 [|N 2 ~~2 ~ v A654 2SN-3 300 -5.0 1
S 34 ~~2 ¢A863 3CN4 130 20 1(|S 2~~2~ ¢QJ2 3NW3 -600 -10.0 1
E ~~~~~ & KT8754 2NN2 120 20 1||E ~34~1 &QT32 4HE4 620 -11.0 2
W o~~~ ~ ~ 2DN3 110 20 2 ~34~1
5DN-1 50 6.0 1
3NS-1 50 6.0 1




X AN >\ ¢ —_—
2 1NEFFr2ABEREFR e == R 2
4 +
AYA .
#1: 9 BER(39.1) #2: 1 THE(31.04) #3: 16 prime(30.77)
6 NS: $E{&E BEEZGHO0) -21 1 6 NS: BRI BREISZ(BAC) 12 VP:| 2.66 17.34| Total VP: 16.09 Rank:
EW: B2 BEERBUEAC) -12 EW: E30& MEHE(BO) 21 IMP:| 12 39 17
—
# 11 » AKT864 2HW2 -110 Mean: 5DXW-3 500 100 1 |[# 12 » 86 6HWG6 -980 Mean: 6HW-2 100 7.0 1
v 98 5DXW-3 500 10  4HW-2 100 3.0 1 v QJ86 6HW-150 -210 6HW-1 50 60 9
¢ 92 Dif: -610 NS:-3 4CE-2 100 3.0 1 *6 Dif: 1030 NS:-13 3HWA4 470 1.0 1
& Q73 IMP: -12 EW:-10 3NE-2 100 3.0 1 & QJT943 IMP: -14 EW:-6 A 00 6
s Q5 s J93 2SN2 110 3.0 1 |[|a AKQT9 a5 4HW5 450 6.0 1
v AKQJ6 v 74 4CE-1 50 1.0 1 ||w K743 I v AT52 3NE4 430 6.0 1
¢ QJB3 * K5 3NW-1 50 1.0 1||e9 ¢ AKT74 6HW6 980 -13.0 3
& JT & A86542 3CW-1 50 1.0 1 K8 » A72
F*OVABN 4,72 3CE-1 50 1.0 1 o ¢ VBN o J7432
N ~~~1~ ¢T532 A 00 6||N ~~~~~ v 9
S ~~~ 1~ ¢AT874 4SN-2 4100 30 1||S ~~~~~ ¢ QJ8532
E 2~2~1 aK9 3CW3 110 30 1||E ~~5~6 %6
W 2 ~2~1 2SN-2 4100 -3.0 1 ~~5~5
2HW2 110 -3.0 1
3SN-3 150 -40 1
3HW3 140  -40 1
2HW4 470 50 1
# 13 » J76 4SW4 -620 Mean: 2HS2 110 120 1 ||# 14 o T987 4SE-150 Mean: 5SE-2 100 30 1
v?2 4SW4 -620 -600 3SW4 170 100 1 v AK3 4SE-150 -10  4SE-1 50 20 1
* T8 Dif: 0 NS:-1 A 00 6 * K Dif: 0 NS:2 A 00 6
& QJ86532 IMP: 0 EW:1 4Sw4 620 -1.0 7 & K5432 IMP: 0 EW:-2 3SE3 140 40 3
& AK954 N ~ QT82 4SE4 620 1.0 2 ||a a AKQJ543 4SE4 420 9.0 1
v 83 v QT76 4SE5 650 -20 1 ||e QJT9875 v6
+ KQ5 + ¢ A762 3NE5 -660 -2.0 1 ¢ AJB52 ¢ 73
& AT7 a9 5CXN-3  -800 5.0 1 |[|a&7 » A96
®OVAN 3 4SXW4 790 -50 1 *OVAN 462
N 2~~~ ~ @« AKJ954 5HXS-4 -1100 110 1 [N 2~~~ ~ ¢ 42
S 2~~~ ~ ¢J943 S 2~~~~ ¢ QT984
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 3SN-1-100 Mean: 3DS3 110 9.0 1 ||# 16 s J974 4SE-2 200 Mean: 4SE-3 300 11.0 1
v 3SN-1-100 -260 5CW-2 100 80 1 96 4CXS-2 -300 -210  4SE-2 200 9.0 1
+ KQ6 Dif: 0 NS:4 3CW-1 50 70 1 ¢ AQT32 Dif: 500 NS:9 4SE-1 100 7.0 1
& QT3 IMP: 0 EW:-4 3CE-1 50 70 1 » 98 IMP: 11 EW:3  2HS-1 50 40 1
& AB52 » 98 4SN-1 100 40 1 ||s KQ83 # T652 3CXS-1 100 3.0 1
v4 v A98762 3SN-1 100 40 2 ||v QJ8 — v AKT 2HW2 110 3.0 1
o AJT ¢ 95 4SXN-1 200 20 1 ||e 865 * KJ9 1NE2 120 3.0 3
& AK954 » J76 3SN-2 200 20 2 ||a 753 » AQT 1NE3 4150 2.0 1
FOVAN A 00 6 o OVABN LA A 00 6
N ~2~1~ ¢ KQJT53 4SN-3 300 10 1[N 1~~~ ~ & 75432 4CXS-2 300 -3.0 1
S ~2~1~ 487432 3NN-5 500 60 1||S 1 ~~~~ ¢74 3NE4 630 9.0 1
E 2~~~1 482 3HXS-2 500 60 2 ||E ~~~22 &KJ642 3NE3 600 9.0 4
W 3~~~ ~ 4SXN-3 800 -11.0 1 ~~~21
5HXS-4 1100 -13.0 1
# 17 & 98652 4HW4 -420 Mean: 4HW-1 50 80 2 ||# 18 a7 3SE3 -140 Mean: 4HN4 620 120 1
v AQ5 4HW4 -420 -300  3SN-1 -50 6.0 1 v AKQJ9 4SXE-1100 20 3HN4 170 40 1
¢ 82 Dif: 0 NS:-3 3HE3 140 40 1 ¢ 9754 Dif: -240 NS:-4 4SXW-1 100 20 1
& KQ5 IMP: 0 EW:3 2HW4 470 40 1 & AK4 IMP: -6 EW:-2 4SXE-1 100 20 4
a7 & AT43 A 00 6 ||as K52 & QJT963 4SE-1 50 1.0 1
v KJ8732 v T96 4HW4 420 -3.0 11| |e 5432 | CX:) 3SE-1 50 1.0 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 A 00 6
& AJ94 » 62 » 82 » QJ5 5HN-1 100 -3.0 2
P VAN ,KQJ oo VAN 4, A8 3HN-1 100 -3.0 1
N ~~~1~ w4 N 4~3~2 ¢T76 3SE3 140 40 3
S ~~~1~ ¢JT743 S 4~3~2 63 4HN-2 200 -6.0 1
E ~~4~1 &T873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 2DN3 110 Mean: 5CS5 400 60 1 |([|# 20 & AJT853 3NW3 -600 Mean: 3SN3 140 60 1
v AKJ 2SW-4 400 180  3NS3 400 6.0 1 v T 4HE4 -620 -110  2SN3 140 6.0 1
+ Q954 Dif: -290 NS:-2 2SW-4 400 60 2 ¢ T7 Dif: 20 NS:-10 2SN2 110 60 5
%6 IMP: -7 EW:-6 2SW-3 300 30 1 » KJ84 IMP: 1 EW:11 2CN3 110 60 1
& Q96532 a J7 A 00 6 ||aKQ72 a9 A 00 6
v Q9 v 87642 2DN6 170 0.0 1 ||v KJ3 _I_ v Q9872 3DW3 110 0.0 1
¢ J2 * KT7 3CS5 150 1.0 1 ||e K8654 * A93 2NE2 4120 0.0 1
® QJ3 » A92 2DN5 150 1.0 1 ||s » 9765 3HE4 470 220 1
FOVAN , 3DN3 110 20 1 *eVAN 4,064 2HW5 200 -3.0 1
N 44~~3 ¢T53 3CS4 130 20 1 [|N 2 ~~2 ~ v A654 2SN-3 300 -5.0 1
S 34 ~~2 ¢A863 3CN4 130 20 1(|S 2~~2~ ¢QJ2 3NW3 -600 -10.0 1
E ~~~~~ & KT8754 2NN2 120 20 1||E ~34~1 &QT32 4HE4 620 -11.0 2
W o~~~ ~ ~ 2DN3 110 20 2 ~34~1
5DN-1 50 6.0 1
3NS-1 50 6.0 1




X AN >\ ¢ —_—
2 1NEFFr2ABEREFR e == R 2
4 +
AYA .
#1: 9 BER(39.1) #2: 1 THE(31.04) #3: 16 prime(30.77)
7 NS: E=EE BN GEO) -2 1 3 NS: 15AREE BEIGIN(BAC) 4 VP:| 7.82 12.18| Total VP: 19.32 Rank:
EW: BEE% SR FAEAC) -4 EW: [RES) €55 (B0) 2 IMP:| 20 26 15
—
# 11 » AKT864 4CE-150 Mean: 5DXW-3 500 10.0 1 |[# 12 » 86 6HW-1 50 Mean: 6HW-2 100 7.0 1
v 98 3NE-2100 10  4HW-2 100 3.0 1 v QJ86 6HW-150 -210 6HW-1 50 60 9
¢ 92 Dif: -50 NS:1  4CE-2 100 3.0 1 *6 Dif: 0 NS:6 3HW4 470 1.0 1
& Q73 IMP: -2 EW:-3 3NE-2 100 3.0 1 & QJT943 IMP: 0 EW:6 A 00 6
s Q5 s J93 2SN2 110 3.0 1 |[|a AKQT9 a5 4HW5 450 6.0 1
v AKQJ6 v 74 4CE-1 50 1.0 1 ||w K743 I v AT52 3NE4 430 6.0 1
¢ QJB3 * K5 3NW-1 50 1.0 1||e9 ¢ AKT74 6HW6 980 -13.0 3
& JT & A86542 3CW-1 50 1.0 1 K8 » A72
F*OVABN 4,72 3CE-1 50 1.0 1 o ¢ VBN o J7432
N ~~~1~ ¢T532 A 00 6||N ~~~~~ v 9
S ~~~ 1~ ¢AT874 4SN-2 4100 30 1||S ~~~~~ ¢ QJ8532
E 2~2~1 aK9 3CW3 110 30 1||E ~~5~6 %6
W 2 ~2~1 2SN-2 4100 -3.0 1 ~~5~5
2HW2 110 -3.0 1
3SN-3 150 -40 1
3HW3 140  -40 1
2HW4 470 50 1
# 13 o J76 4SXW4 -790 Mean: 2HS2 110 120 1 ||# 14 o T987 4SE-150 Mean: 5SE-2 100 30 1
v?2 4SW4 -620 -600 3SW4 170 100 1 v AK3 3SE3-140 -10  4SE-1 50 20 11
* T8 Dif: -170 NS:-5 A 00 6 * K Dif: 190 NS:2 A 00 6
& QJ86532 IMP: -5 EW:1 4sw4 620 -1.0 7 & K5432 IMP: 5 EW:4 3SE3 140 40 3
& AK954 N ~ QT82 4SE4 620 1.0 2 ||a a AKQJ543 4SE4 420 9.0 1
v 83 v QT76 4SE5 650 -20 1 ||e QJT9875 v6
+ KQ5 + ¢ A762 3NE5 -660 -2.0 1 ¢ AJB52 ¢ 73
& AT7 a9 5CXN-3  -800 5.0 1 |[|a&7 » A96
®OVAN 3 4SXW4 790 -50 1 *OVAN 462
N 2~~~ ~ @« AKJ954 5HXS-4 -1100 110 1 [N 2~~~ ~ ¢ 42
S 2 ~~~~ ¢J943 S 2~~~~ ¢QT94
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 5CW-2 100 Mean: 3DS3 110 9.0 1 ||# 16 s J974 3NE3 -600 Mean: 4SE-3 300 11.0 1
v 4SN-3 -300 -260 5CW-2 100 80 1 96 3CXS-1-100 -210 4SE-2 200 9.0 1
+ KQ6 Dif: 400 NS:8 3CW-1 50 70 1 ¢ AQT32 Dif: -500 NS:-9 4SE-1 100 7.0 1
& QT3 IMP: 9 EW:1 3CE-1 50 70 1 » 98 IMP: -11 EW:-3 2HS-1 50 40 1
& AB52 » 98 4SN-1 100 40 1 ||s KQ83 # T652 3CXS-1 100 3.0 1
v4 v A98762 3SN-1 100 40 2 ||v QJ8 — v AKT 2HW2 110 3.0 1
o AJT ¢ 95 4SXN-1 200 20 1 ||e 865 * KJ9 1NE2 120 3.0 3
& AK954 » J76 3SN-2 200 20 2 ||a 753 » AQT 1NE3 4150 2.0 1
FOVAN A 00 6 o OVABN LA A 00 6
N ~2~1~ ¢ KQJT53 4SN-3 300 10 1[N 1~~~ ~ & 75432 4CXS-2 300 -3.0 1
S ~2~1~ 487432 3NN-5 500 60 1||S 1 ~~~~ ¢74 3NE4 630 9.0 1
E 2~~~1 482 3HXS-2 500 60 2 ||E ~~~22 &KJ642 3NE3 600 9.0 4
W 3~~~ ~ 4SXN-3 800 -11.0 1 ~~~21
5HXS-4 1100 -13.0 1
# 17 & 98652 4HW4 -420 Mean: 4HW-1 50 80 2 ||# 18 a7 4SXE-1 100 Mean: 4HN4 620 120 1
v AQ5 4HW4 -420 -300  3SN-1 50 6.0 1 v AKQJ9 3SE3-140 20  3HN4 170 40 1
¢ 82 Dif: 0 NS:-3 3HE3 140 40 1 ¢ 9754 Dif: 240 NS:2 4SXW-1 100 20 1
& KQ5 IMP: 0 EW:3 2HW4 470 40 1 & AK4 IMP: 6 EW:4 4SXE-1 100 20 4
a7 & AT43 A 00 6 ||as K52 & QJT963 4SE-1 50 1.0 1
v KJ8732 v T96 4HW4 420 -3.0 11| |e 5432 | CX:) 3SE-1 50 1.0 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 A 00 6
& AJ94 » 62 » 82 » QJ5 5HN-1 100 -3.0 2
P VAN ,KQJ oo VAN 4, A8 3HN-1 100 -3.0 1
N ~~~1~ w4 N 4~3~2 ¢T76 3SE3 140 40 3
S ~~~1~ ¢JT743 S 4~3~2 63 4HN-2 200 -6.0 1
E ~~4~1 &T873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 2NN2 120 Mean: 5CS5 400 60 1 |([|# 20 & AJT853 3HE4 -170 Mean: 3SN3 140 60 1
v AKJ 2DN5 150 180  3NS3 400 60 1 vwT 2SN2 110 -110  2SN3 140 6.0 1
+ Q954 Dif: -30 NS:-2 2Sw-4 400 60 2 ¢ T7 Dif: -280 NS:-2 2SN2 110 60 5
%6 IMP: -1 EW:1  2SW-3 300 30 1 » KJ84 IMP: -7 EW:-6 2CN3 110 60 1
& Q96532 a J7 A 00 6 ||aKQ72 a9 A 00 6
v Q9 v 87642 2DN6 170 0.0 1 ||v KJ3 _I_ v Q9872 3DW3 110 0.0 1
¢ J2 * KT7 3CS5 150 1.0 1 ||e K8654 * A93 2NE2 4120 0.0 1
® QJ3 » A92 2DN5 150 1.0 1 ||s » 9765 3HE4 470 220 1
FOVAN , 3DN3 110 20 1 *eVAN 4,064 2HW5 200 -3.0 1
N 44~~3 ¢T53 3CS4 130 20 1 [|N 2 ~~2 ~ v A654 2SN-3 300 -5.0 1
S 34 ~~2 ¢A863 3CN4 130 20 1(|S 2~~2~ ¢QJ2 3NW3 -600 -10.0 1
E ~~~~~ & KT8754 2NN2 120 20 1||E ~34~1 &QT32 4HE4 620 -11.0 2
W o~~~ ~ ~ 2DN3 110 20 2 ~34~1
5DN-1 50 6.0 1
3NS-1 50 6.0 1




X AN >\ ¢ —_—
2 1NEFFr2ABEREFR e == R 2
4 +
AYA .
#1: 9 BER(39.1) #2: 1 THE(31.04) #3: 16 prime(30.77)
8 NS: K= FEERGHO) 17 14 NS: #tiRiE ZFFHZE(BAC) -9 VP:| 16.78 : 3.22 Total VP: 25.28 Rank:
EW: BEE EE ZRAEEAC) 9 EW: [Rigi % E#&1E(BRO) -1 IMP:} 35 : 11 4
—
# 11 » AKT864 2HW4 -170 Mean: 5DXW-3 500 100 1 |[# 12 » 86 6HW-1 50 Mean: 6HW-2 100 7.0 1
v 98 2SN-2-100 10  4HW-2 100 3.0 1 v QJ86 6HW-150 -210 6HW-1 50 60 9
¢ 92 Dif: -70 NS:-5 4CE-2 100 3.0 1 *6 Dif: 0 NS:6 3HW4 470 1.0 1
& Q73 IMP: -2 EW:3 3NE-2 100 3.0 1 & QJT943 IMP: 0 EW:6 A 00 6
s Q5 s J93 2SN2 110 3.0 1 |[|a AKQT9 a5 4HW5 450 6.0 1
v AKQJ6 v 74 4CE-1 50 1.0 1 ||w K743 I v AT52 3NE4 430 6.0 1
¢ QJB3 * K5 3NW-1 50 1.0 1||e9 ¢ AKT74 6HW6 980 -13.0 3
& JT & A86542 3CW-1 50 1.0 1 K8 » A72
F*OVABN 4,72 3CE-1 50 1.0 1 o ¢ VBN o J7432
N ~~~1~ ¢T532 A 00 6||N ~~~~~ v 9
S ~~~ 1~ ¢AT874 4SN-2 4100 30 1||S ~~~~~ ¢ QJ8532
E 2~2~1 aK9 3CW3 110 30 1||E ~~5~6 %6
W 2 ~2~1 2SN-2 4100 -3.0 1 ~~5~5
2HW2 110 -3.0 1
3SN-3 150 -40 1
3HW3 140  -40 1
2HW4 470 50 1
# 13 » J76 4SE4 -620 Mean: 2HS2 110 120 1 ||# 14 o T987 4SE-150 Mean: 5SE-2 100 30 1
v?2 4SW4 -620 -600 3SW4 170 100 1 v AK3 4SE-150 -10  4SE-1 50 20 1
* T8 Dif: 0 NS:-1 A 00 6 * K Dif: 0 NS:2 A 00 6
& QJ86532 IMP: 0 EW:1 4Sw4 620 -1.0 7 & K5432 IMP: 0 EW:-2 3SE3 140 40 3
& AK954 N ~ QT82 4SE4 620 1.0 2 ||a a AKQJ543 4SE4 420 9.0 1
v 83 v QT76 4SE5 650 -20 1 ||e QJT9875 v6
+ KQ5 + ¢ A762 3NE5 -660 -2.0 1 ¢ AJB52 ¢ 73
& AT7 a9 5CXN-3  -800 5.0 1 |[|a&7 » A96
®OVAN 3 4SXW4 790 -50 1 *OVAN 462
N 2~~~ ~ @« AKJ954 5HXS-4 -1100 110 1 [N 2~~~ ~ ¢ 42
S 2 ~~~~ ¢J943 S 2~~~~ ¢QT94
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 3SN-2 -200 Mean: 3DS3 110 9.0 1 ||# 16 s J974 1NE2 -120 Mean: 4SE-3 300 11.0 1
v 3HXS-2 -500 -260 5CW-2 100 80 1 96 3NE3 -600 -210 4SE-2 200 9.0 1
+ KQ6 Dif: 300 NS:2 3CW-1 50 70 1 ¢ AQT32 Dif: 480 NS:3 4SE-1 100 7.0 1
& QT3 IMP: 7 EW:6 3CE-1 50 70 1 » 98 IMP: 10 EW:9 2HS-1 50 40 1
& AB52 » 98 4SN-1 100 40 1 ||s KQ83 # T652 3CXS-1 100 3.0 1
v4 v A98762 3SN-1 100 40 2 ||v QJ8 — v AKT 2HW2 110 3.0 1
o AJT ¢ 95 4SXN-1 200 20 1 ||e 865 * KJ9 1NE2 120 3.0 3
& AK954 » J76 3SN-2 200 20 2 ||a 753 » AQT 1NE3 4150 2.0 1
FOVAN A 00 6 o OVABN LA A 00 6
N ~2~1~ ¢ KQJT53 4SN-3 300 10 1[N 1~~~ ~ & 75432 4CXS-2 300 -3.0 1
S ~2~1~ 487432 3NN-5 500 60 1||S 1 ~~~~ ¢74 3NE4 630 9.0 1
E 2~~~1 482 3HXS-2 500 60 2 ||E ~~~22 &KJ642 3NE3 600 9.0 4
W 3~~~ ~ 4SXN-3 800 -11.0 1 ~~~21
5HXS-4 1100 -13.0 1
# 17 & 98652 4HW4 -420 Mean: 4HW-1 50 80 2 ||# 18 a7 4HN4 620 Mean: 4HN4 620 120 1
v AQ5 4HW4 -420 -300  3SN-1 -50 6.0 1 v AKQJ9 4SE-150 20 3HN4 170 40 1
¢ 82 Dif: 0 NS:-3 3HE3 140 40 1 ¢ 9754 Dif: 570 NS:12 4SXW-1 100 20 1
& KQ5 IMP: 0 EW:3 2HW4 470 40 1 & AK4 IMP: 11 EW:-1 4SXE-1 100 20 4
a7 & AT43 A 00 6 ||as K52 & QJT963 4SE-1 50 1.0 1
v KJ8732 v T96 4HW4 420 -3.0 11| |e 5432 | CX:) 3SE-1 50 1.0 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 A 00 6
& AJ94 » 62 » 82 » QJ5 5HN-1 100 -3.0 2
P VAN ,KQJ oo VAN 4, A8 3HN-1 100 -3.0 1
N ~~~1~ w4 N 4~3~2 ¢T76 3SE3 140 40 3
S ~~~1~ ¢JT743 S 4~3~2 63 4HN-2 200 -6.0 1
E ~~4~1 &T873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 5CS5 400 Mean: 5CS5 400 60 1 |([|# 20 & AJT853 2SN-3 -300 Mean: 3SN3 140 60 1
v AKJ 3CS4130 180  3NS3 400 60 1 vwT 2SN2 110 -110  2SN3 140 6.0 1
+ Q954 Dif: 270 NS:6 2SW-4 400 60 2 ¢ T7 Dif: -410 NS:-5 2SN2 110 60 5
6 IMP: 7 EW:2 2SW-3 300 30 1 » KJ84 IMP: -9 EW:-6 2CN3 110 60 1
& Q96532 a J7 A 00 6 ||aKQ72 a9 A 00 6
v Q9 v 87642 2DN6 170 0.0 1 ||v KJ3 _I_ v Q9872 3DW3 110 0.0 1
¢ J2 * KT7 3CS5 150 1.0 1 ||e K8654 * A93 2NE2 4120 0.0 1
® QJ3 » A92 2DN5 150 1.0 1 ||s » 9765 3HE4 470 220 1
FOVAN , 3DN3 110 20 1 *eVAN 4,064 2HW5 200 -3.0 1
N 44~~3 ¢T53 3CS4 130 20 1 [|N 2 ~~2 ~ v A654 2SN-3 300 -5.0 1
S 34 ~~2 ¢A863 3CN4 130 20 1(|S 2~~2~ ¢QJ2 3NW3 -600 -10.0 1
E ~~~~~ & KT8754 2NN2 120 20 1||E ~34~1 &QT32 4HE4 620 -11.0 2
W o~~~ ~ ~ 2DN3 110 20 2 ~34~1
5DN-1 50 6.0 1
3NS-1 50 6.0 1




X AN >\ ¢ —_—
2 1NEFFr2ABEREFR e == R 2
4 +
AYA .
#1: 9 BER(39.1) #2: 1 THE(31.04) #3: 16 prime(30.77)
9 NS: f3{FE #HEFEAC) 8 4 NS: BiE&E JaF(BO) -2 VP:| 19.10 : 0.90 Total VP: 39.10 Rank:
EW: ZEREIR S2E/KEFHO) 29 EW: RF % BRZ50\(BAC) -8 IMP:| 54 15 1
—
# 11 » AKT864 3HW3 140 Mean: 5DXW-3 500 10.0 1 |[# 12 » 86 6HW6 980 Mean: 6HW-2 100 7.0 1
v 98 4HW-2 -100 10  4HW-2 100 3.0 1 v QJ86 4HW5 450 -210  6HW-1 50 60 9
¢ 92 Dif: 240 NS:3 4CE-2 100 3.0 1 *6 Dif: 530 NS:-6 3HW4 470 1.0 1
& Q73 IMP: 6 EW:4 3NE-2 100 3.0 1 & QJT943 IMP: 11 EW:13 A 00 6
s Q5 s J93 2SN2 110 3.0 1 |[|a AKQT9 a5 4HW5 450 6.0 1
v AKQJ6 v 74 4CE-1 50 1.0 1 ||w K743 I v AT52 3NE4 430 6.0 1
¢ QJB3 * K5 3NW-1 50 1.0 1||e9 ¢ AKT74 6HW6 980 -13.0 3
& JT & A86542 3CW-1 50 1.0 1 K8 » A72
F*OVABN 4,72 3CE-1 50 1.0 1 o ¢ VBN o J7432
N ~~~1~ ¢T532 A 00 6||N ~~~~~ v 9
S ~~~ 1~ ¢AT874 4SN-2 4100 30 1||S ~~~~~ ¢ QJ8532
E 2~2~1 aK9 3CW3 110 30 1||E ~~5~6 %6
W 2 ~2~1 2SN-2 4100 -3.0 1 ~~5~5
2HW2 110 -3.0 1
3SN-3 150 -40 1
3HW3 140  -40 1
2HW4 470 50 1
# 13 » J76 3NE5 660 Mean: 2HS2 110 120 1 ||# 14 o T987 4SE-1 -50 Mean: 5SE-2 100 30 1
v?2 4SW4 620 -600 3SW4 170 100 1 v AK3 3SE3140 -10  4SE-1 50 20 11
* T8 Dif: 40 NS:-1 A 00 6 * K Dif: -190 NS:-4 A 00 6
& QJ86532 IMP: 1 EW:2 4Sw4 620 -1.0 7 & K5432 IMP: -5 EW:-2 3SE3 140 40 3
& AK954 N ~ QT82 4SE4 620 1.0 2 ||a a AKQJ543 4SE4 420 9.0 1
v 83 v QT76 4SE5 650 -20 1 ||e QJT9875 v6
+ KQ5 + ¢ A762 3NE5 -660 -2.0 1 ¢ AJB52 ¢ 73
& AT7 a9 5CXN-3  -800 5.0 1 |[|a&7 » A96
®OVAN 3 4SXW4 790 -50 1 *OVAN 462
N 2~~~ ~ @« AKJ954 5HXS-4 -1100 110 1 [N 2~~~ ~ ¢ 42
S 2~~~ ~ ¢J943 S 2~~~~ ¢ QT984
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 3NN-5500 Mean: 3DS3 110 9.0 1 ||# 16 s J974 1NE2 120 Mean: 4SE-3 300 11.0 1
v 3CW-1-50 -260 5CW-2 100 80 1 96 3NE3 600 -210 4SE-2 200 9.0 1
+ KQ6 Dif: 550 NS:7 3CW-1 50 70 1 ¢ AQT32 Dif: -480 NS:-9 4SE-1 100 7.0 1
& QT3 IMP: 11 EW:6 3CE-1 50 70 1 » 98 IMP: -10 EW:-3 2HS-1 50 40 1
& AB52 » 98 4SN-1 100 40 1 ||s KQ83 # T652 3CXS-1 100 3.0 1
v4 v A98762 3SN-1 100 40 2 ||v QJ8 — v AKT 2HW2 110 3.0 1
o AJT ¢ 95 4SXN-1 200 20 1 ||e 865 * KJ9 1NE2 120 3.0 3
& AK954 » J76 3SN-2 200 20 2 ||a 753 » AQT 1NE3 4150 2.0 1
FOVAN A 00 6 o OVABN LA A 00 6
N ~2~1~ ¢ KQJT53 4SN-3 300 10 1[N 1~~~ ~ & 75432 4CXS-2 300 -3.0 1
S ~2~1~ 487432 3NN-5 500 60 1||S 1 ~~~~ ¢74 3NE4 630 9.0 1
E 2~~~1 482 3HXS-2 500 60 2 ||E ~~~22 &KJ642 3NE3 600 9.0 4
W 3~~~ ~ 4SXN-3 800 -11.0 1 ~~~21
5HXS-4 1100 -13.0 1
# 17 & 98652 4HW4 420 Mean: 4HW-1 50 80 2 ||# 18 a7 3SE3 140 Mean: 4HN4 620 120 1
v AQ5 4HW-1 -50 -300  3SN-1 -50 60 1 v AKQJ9 3HN4 -170 20 3HN4 170 40 1
¢ 82 Dif: 470 NS:8 3HE3 140 40 1 ¢ 9754 Dif: 310 NS:4 4SXW-1 100 20 1
& KQ5 IMP: 10 EW:3 2HW4 470 40 1 & AK4 IMP: 7 EW:4 4SXE-1 100 20 4
a7 & AT43 A 00 6 ||as K52 & QJT963 4SE-1 50 1.0 1
v KJ8732 v T96 4HW4 420 -3.0 11| |e 5432 | CX:) 3SE-1 50 1.0 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 A 00 6
& AJ94 » 62 » 82 » QJ5 5HN-1 100 -3.0 2
P VAN ,KQJ oo VAN 4, A8 3HN-1 100 -3.0 1
N ~~~1~ w4 N 4~3~2 ¢T76 3SE3 140 40 3
S ~~~1~ ¢JT743 S 4~3~2 63 4HN-2 200 -6.0 1
E ~~4~1 &T873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 3DN3 -110 Mean: 5CS5 400 60 1 |([|# 20 & AJT853 3DW3 110 Mean: 3SN3 140 60 1
v AKJ 2DN6 -170 180  3NS3 400 6.0 1 v T 2SN3 -140 -110  2SN3 140 6.0 1
+ Q954 Dif: 60 NS:0 2Sw-4 400 60 2 ¢ T7 Dif: 250 NS:6 2SN2 110 60 5
%6 IMP: 2 EW:2 2SW-3 300 30 1 » KJ84 IMP: 6 EW:0 2CN3 110 60 1
& Q96532 a J7 A 00 6 ||aKQ72 a9 A 00 6
v Q9 v 87642 2DN6 170 0.0 1 ||v KJ3 _I_ v Q9872 3DW3 110 0.0 1
¢ J2 * KT7 3CS5 150 1.0 1 ||e K8654 * A93 2NE2 4120 0.0 1
® QJ3 » A92 2DN5 150 1.0 1 ||s » 9765 3HE4 470 220 1
FOVAN , 3DN3 110 20 1 *eVAN 4,064 2HW5 200 -3.0 1
N 44~~3 ¢T53 3CS4 130 20 1 [|N 2 ~~2 ~ v A654 2SN-3 300 -5.0 1
S 34 ~~2 ¢A863 3CN4 130 20 1(|S 2~~2~ ¢QJ2 3NW3 -600 -10.0 1
E ~~~~~ & KT8754 2NN2 120 20 1||E ~34~1 &QT32 4HE4 620 -11.0 2
W o~~~ ~ ~ 2DN3 110 20 2 ~34~1
5DN-1 50 6.0 1
3NS-1 50 6.0 1




X AN >\ ¢ —_—
2 1NEFFr2ABEREFR e == R 2
4 +
AYA .
#1: 9 BER(39.1) #2: 1 THE(31.04) #3: 16 prime(30.77)
1 O NS: &¥0F BREHEIC) -24 3 NS: i&£F%5 HEA(FO) 33 VP:| 0.00 20.00 | Total VP: 0.00 Rank:
EW: BR$%%5 BEEIH(BHO) -33 EW: Z=§E28 ST F(BAC) 24 IMP:| 8 60 22
—
# 11 » AKT864 3CE-1-50 Mean: 5DXW-3 500 10.0 1 |[|# 12 » 86 3HW4 170 Mean: 6HW-2 100 7.0 1
v 98 4CE-2-100 10  4HW-2 100 3.0 1 v QJ86 6HW-1-50 -210 6HW-1 50 60 9
¢ 92 Dif: 50 NS:3 4CE-2 100 3.0 1 *6 Dif: 220 NS:6 3HW4 470 1.0 1
& Q73 IMP: 2 EW:-1  3NE-2 100 3.0 1 & QJT943 IMP: 6 EW:-1 A 00 6
s Q5 s J93 2SN2 110 3.0 1 |[|a AKQT9 a5 4HW5 450 6.0 1
v AKQJ6 v 74 4CE-1 50 1.0 1 ||w K743 I v AT52 3NE4 430 6.0 1
¢ QJB3 * K5 3NW-1 50 1.0 1||e9 ¢ AKT74 6HW6 980 -13.0 3
& JT & A86542 3CW-1 50 1.0 1 K8 » A72
F*OVABN 4,72 3CE-1 50 1.0 1 o ¢ VBN o J7432
N ~~~1~ ¢T532 A 00 6||N ~~~~~ v 9
S ~~~ 1~ ¢AT874 4SN-2 4100 30 1||S ~~~~~ ¢ QJ8532
E 2~2~1 aK9 3CW3 110 30 1||E ~~5~6 %6
W 2 ~2~1 2SN-2 4100 -3.0 1 ~~5~5
2HW2 110 -3.0 1
3SN-3 150 -40 1
3HW3 140  -40 1
2HW4 470 50 1
# 13 » J76 2HS2 -110 Mean: 2HS2 110 120 1 ||# 14 o T987 3SE3 140 Mean: 5SE-2 100 30 1
v?2 4SW4 620 -600 3SW4 170 100 1 v AK3 4SE4 420 -10  4SE-1 50 20 1
* T8 Dif: -730 NS:-1 A 00 6 * K Dif: -280 NS:-9 A 00 6
& QJ86532 IMP: -12 EW:-12 4SW4 620 -1.0 7 & K5432 IMP: -7 EW:4 3SE3 140 40 3
& AK954 N ~ QT82 4SE4 620 1.0 2 ||a a AKQJ543 4SE4 420 9.0 1
v 83 v QT76 4SE5 650 -20 1 ||e QJT9875 v6
+ KQ5 + ¢ A762 3NE5 -660 -2.0 1 ¢ AJB52 ¢ 73
& AT7 a9 5CXN-3  -800 5.0 1 |[|a&7 » A96
®OVAN 3 4SXW4 790 -50 1 *OVAN 462
N 2~~~ ~ @« AKJ954 5HXS-4 -1100 110 1 [N 2~~~ ~ ¢ 42
S 2~~~ ~ ¢J943 S 2~~~~ ¢ QT984
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 4SN-1 100 Mean: 3DS3 110 9.0 1 ||# 16 s J974 2HW2 110 Mean: 4SE-3 300 11.0 1
v 3SN-2 200 -260 5CW-2 100 80 1 96 3NE4 630 -210 4SE-2 200 9.0 1
+ KQ6 Dif: -100 NS:2 3CW-1 50 70 1 ¢ AQT32 Dif: -520 NS:-9 4SE-1 100 7.0 1
& QT3 IMP: -3 EW:-4 3CE-1 50 70 1 » 98 IMP: -11 EW:-3 2HS-1 50 40 1
& AB52 » 98 4SN-1 100 40 1 ||s KQ83 # T652 3CXS-1 100 3.0 1
v4 v A98762 3SN-1 100 40 2 ||v QJ8 — v AKT 2HW2 110 3.0 1
o AJT ¢ 95 4SXN-1 200 20 1 ||e 865 * KJ9 1NE2 120 3.0 3
& AK954 » J76 3SN-2 200 20 2 ||a 753 » AQT 1NE3 4150 2.0 1
FOVAN A 00 6 o OVABN LA A 00 6
N ~2~1~ ¢ KQJT53 4SN-3 300 10 1[N 1~~~ ~ & 75432 4CXS-2 300 -3.0 1
S ~2~1~ 487432 3NN-5 500 60 1||S 1 ~~~~ ¢74 3NE4 630 9.0 1
E 2~~~1 482 3HXS-2 500 60 2 ||E ~~~22 &KJ642 3NE3 600 9.0 4
W 3~~~ ~ 4SXN-3 800 -11.0 1 ~~~21
5HXS-4 1100 -13.0 1
# 17 & 98652 3SN-150 Mean: 4HW-1 50 80 2 ||# 18 a7 3SE-1-50 Mean: 4HN4 620 120 1
v AQ5 2HW4 170 -300  3SN-1 50 6.0 1 v AKQJ9 3HN-1100 20  3HN4 170 40 1
¢ 82 Dif: -120 NS:4 3HE3 140 40 1 ¢ 9754 Dif: -150 NS:-3 4SXW-1 100 20 1
& KQ5 IMP: -3 EW:-6 2HW4 470 40 1 & AK4 IMP: -4 EW:-1 4SXE-1 100 20 4
a7 & AT43 A 00 6 ||as K52 & QJT963 4SE-1 50 1.0 1
v KJ8732 v T96 4HW4 420 -3.0 11| |e 5432 | CX:) 3SE-1 50 1.0 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 A 00 6
& AJ94 » 62 » 82 » QJ5 5HN-1 100 -3.0 2
P VAN ,KQJ oo VAN 4, A8 3HN-1 100 -3.0 1
N ~~~1~ w4 N 4~3~2 ¢T76 3SE3 140 40 3
S ~~~1~ ¢JT743 S 4~3~2 63 4HN-2 200 -6.0 1
E ~~4~1 &T873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 2SW-3 -300 Mean: 5CS5 400 60 1 |([|# 20 & AJT853 2SN2 -110 Mean: 3SN3 140 60 1
v AKJ 5DN-150 180  3NS3 400 6.0 1 v T 4HE4 620 -110  2SN3 140 6.0 1
+ Q954 Dif: -350 NS:-6 2SW-4 400 60 2 ¢ T7 Dif: -730 NS:-11 2SN2 110 60 5
6 IMP: -8 EW:-3 2SW-3 300 30 1 » KJ84 IMP: -12 EW:-6 2CN3 110 60 1
& Q96532 a J7 A 00 6 ||aKQ72 a9 A 00 6
v Q9 v 87642 2DN6 170 0.0 1 ||v KJ3 _I_ v Q9872 3DW3 110 0.0 1
¢ J2 * KT7 3CS5 150 1.0 1 ||e K8654 * A93 2NE2 4120 0.0 1
® QJ3 » A92 2DN5 150 1.0 1 ||s » 9765 3HE4 470 220 1
FOVAN , 3DN3 110 20 1 *eVAN 4,064 2HW5 200 -3.0 1
N 44~~3 ¢T53 3CS4 130 20 1 [|N 2 ~~2 ~ v A654 2SN-3 300 -5.0 1
S 34 ~~2 ¢A863 3CN4 130 20 1(|S 2~~2~ ¢QJ2 3NW3 -600 -10.0 1
E ~~~~~ & KT8754 2NN2 120 20 1||E ~34~1 &QT32 4HE4 620 -11.0 2
W o~~~ ~ ~ 2DN3 110 20 2 ~34~1
5DN-1 50 6.0 1
3NS-1 50 6.0 1




X AN >\ ¢ —_—
2 1NEFFr2ABEREFR e == R 2
4 +
AYA .
#1: 9 BER(39.1) #2: 1 THE(31.04) #3: 16 prime(30.77)
1 1 NS: Bttt HEFEEIC) -35 2 NS: 25T =% (F0) 23 VP:| 0.24 19.76 | Total VP: 9.85 Rank:
EW: $E55 55 BRER(BFHO) -23 EW: E{51E #3E(BAC) 35 IMP:| 7 ;52 21
—
# 11 » AKT864 3CW3 110 Mean: 5DXW-3 500 10.0 1 |[# 12 » 86 6HW-2 -100 Mean: 6HW-2 100 7.0 1
v 98 3NW-1-50 10  4HW-2 100 3.0 1 v QJ86 6HW6 980 -210  6HW-1 50 60 9
¢ 92 Dif: 160 NS:1  4CE-2 100 3.0 1 *6 Dif: -1080 NS:-13 3HWA4 470 1.0 1
& Q73 IMP: 4 EW:3 3NE-2 100 3.0 1 & QJT943 IMP: -14 EW:-7 A 00 6
s Q5 s J93 2SN2 110 3.0 1 |[|a AKQT9 a5 4HW5 450 6.0 1
v AKQJ6 v 74 4CE-1 50 1.0 1 ||w K743 I v AT52 3NE4 430 6.0 1
¢ QJB3 * K5 3NW-1 50 1.0 1||e9 ¢ AKT74 6HW6 980 -13.0 3
& JT & A86542 3CW-1 50 1.0 1 K8 » A72
F*OVABN 4,72 3CE-1 50 1.0 1 o ¢ VBN o J7432
N ~~~1~ ¢T532 A 00 6||N ~~~~~ v 9
S ~~~ 1~ ¢AT874 4SN-2 4100 30 1||S ~~~~~ ¢ QJ8532
E 2~2~1 aK9 3CW3 110 30 1||E ~~5~6 %6
W 2 ~2~1 2SN-2 4100 -3.0 1 ~~5~5
2HW2 110 -3.0 1
3SN-3 150 -40 1
3HW3 140  -40 1
2HW4 470 50 1
# 13 » J76 4SE4 620 Mean: 2HS2 110 120 1 ||# 14 o T987 4SE-1-50 Mean: 5SE-2 100 30 1
v?2 4SE5 650 -600 3SW4 470 100 1 v AK3 4SE-1-50 -10  4SE-1 50 20 1
* T8 Dif: -30 NS:2 A 00 6 * K Dif: 0 NS:2 A 00 6
& QJ86532 IMP: -1 EW:1  4sw4 620 -1.0 7 & K5432 IMP: 0 EW:-2 3SE3 140 40 3
& AK954 N ~ QT82 4SE4 620 1.0 2 ||a a AKQJ543 4SE4 420 9.0 1
v 83 v QT76 4SE5 650 -20 1 ||e QJT9875 v6
+ KQ5 + ¢ A762 3NE5 -660 -2.0 1 ¢ AJB52 ¢ 73
& AT7 a9 5CXN-3  -800 5.0 1 |[|a&7 » A96
®OVAN 3 4SXW4 790 -50 1 *OVAN 462
N 2~~~ ~ @« AKJ954 5HXS-4 -1100 110 1 [N 2~~~ ~ ¢ 42
S 2~~~ ~ ¢J943 S 2~~~~ ¢ QT984
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 3DS3 -110 Mean: 3DS3 110 9.0 1 ||# 16 s J974 1NE2 120 Mean: 4SE-3 300 11.0 1
v 5HXS-4 1100 -260 5CW-2 100 80 1 v 96 1NE3 150 -210  4SE-2 200 9.0 1
+ KQ6 Dif: 1210 NS:-13 3CW-1 50 70 1 ¢ AQT32 Dif: -30 NS:2 4SE-1 100 7.0 1
& QT3 IMP: -15 EW:-9 3CE-1 50 70 1 » 98 IMP: -1 EW:-3 2HS-1 50 40 1
& AB52 » 98 4SN-1 100 40 1 ||s KQ83 # T652 3CXS-1 100 3.0 1
v4 v A98762 3SN-1 100 40 2 ||v QJ8 — v AKT 2HW2 110 3.0 1
o AJT ¢ 95 4SXN-1 200 20 1 ||e 865 * KJ9 1NE2 120 3.0 3
& AK954 » J76 3SN-2 200 20 2 ||a 753 » AQT 1NE3 4150 2.0 1
FOVAN A 00 6 o OVABN LA A 00 6
N ~2~1~ ¢ KQJT53 4SN-3 300 10 1[N 1~~~ ~ & 75432 4CXS-2 300 -3.0 1
S ~2~1~ 487432 3NN-5 500 60 1||S 1 ~~~~ ¢74 3NE4 630 9.0 1
E 2~~~1 482 3HXS-2 500 60 2 ||E ~~~22 &KJ642 3NE3 600 9.0 4
W 3~~~ ~ 4SXN-3 800 -11.0 1 ~~~21
5HXS-4 1100 -13.0 1
# 17 & 98652 4HW-1 -50 Mean: 4HW-1 50 80 2 ||# 18 a7 4HN-2 200 Mean: 4HN4 620 120 1
v AQ5 4HW4 420 -300 3SN-1 50 6.0 1 v AKQJ9 5HN-1100 20  3HN4 170 40 1
¢ 82 Dif: -470 NS:-3 3HE3 140 40 1 ¢ 9754 Dif: 100 NS:-3 4SXW-1 100 20 1
& KQ5 IMP: -10 EW:-8 2HW4 470 40 1 & AK4 IMP: 3 EW:6 4SXE-1 100 20 4
a7 & AT43 A 00 6 ||as K52 & QJT963 4SE-1 50 1.0 1
v KJ8732 v T96 4HW4 420 -3.0 11| |e 5432 | CX:) 3SE-1 50 1.0 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 A 00 6
& AJ94 » 62 » 82 » QJ5 5HN-1 100 -3.0 2
P VAN ,KQJ oo VAN 4, A8 3HN-1 100 -3.0 1
N ~~~1~ w4 N 4~3~2 ¢T76 3SE3 140 40 3
S ~~~1~ ¢JT743 S 4~3~2 63 4HN-2 200 -6.0 1
E ~~4~1 &T873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 3CN4 -130 Mean: 5CS5 400 60 1 |([|# 20 & AJT853 2SN2 -110 Mean: 3SN3 140 60 1
v AKJ 3NS-150 180  3NS3 400 60 1 vwT 2NE2120 -110  2SN3 140 6.0 1
+ Q954 Dif: -180 NS:-6 2SW-4 400 60 2 ¢ T7 Dif: -230 NS:0 2SN2 110 60 5
6 IMP: -5 EW:2 2SW-3 300 30 1 » KJ84 IMP: -6 EW:-6 2CN3 110 60 1
& Q96532 a J7 A 00 6 ||aKQ72 a9 A 00 6
v Q9 v 87642 2DN6 170 0.0 1 ||v KJ3 _I_ v Q9872 3DW3 110 0.0 1
¢ J2 * KT7 3CS5 150 1.0 1 ||e K8654 * A93 2NE2 4120 0.0 1
® QJ3 » A92 2DN5 150 1.0 1 ||s » 9765 3HE4 470 220 1
FOVAN , 3DN3 110 20 1 *eVAN 4,064 2HW5 200 -3.0 1
N 44~~3 ¢T53 3CS4 130 20 1 [|N 2 ~~2 ~ v A654 2SN-3 300 -5.0 1
S 34 ~~2 ¢A863 3CN4 130 20 1(|S 2~~2~ ¢QJ2 3NW3 -600 -10.0 1
E ~~~~~ & KT8754 2NN2 120 20 1||E ~34~1 &QT32 4HE4 620 -11.0 2
W o~~~ ~ ~ 2DN3 110 20 2 ~34~1
5DN-1 50 6.0 1
3NS-1 50 6.0 1




X AN >\ ¢ —_—
2 1NEFFr2ABEREFR e == R 2
4 +
AYA .
#1: 9 BER(39.1) #2: 1 THE(31.04) #3: 16 prime(30.77)
1 2 NS: i TTRINERC) 9 1 NS: &8 sRRFR(BO0) 31 VP:| 4.48 15.52| Total VP: 14.87 Rank:
EW: £ &5 B EEH0) -31 EW: 81815 REM(BAC) -9 IMP:| 18 36 19
—
# 11 » AKT864 3CW-1-50 Mean: 5DXW-3 500 10.0 1 |[|# 12 » 86 3NE4 430 Mean: 6HW-2 100 7.0 1
v 98 3SN-3150 10  4HW-2 100 3.0 1 v QJ86 6HW-1-50 -210  6HW-1 50 60 9
¢ 92 Dif: -200 NS:-4 4CE-2 100 3.0 1 *6 Dif: 480 NS:6 3HW4 470 1.0 1
& Q73 IMP: -5 EW:-1 3NE-2 100 3.0 1 & QJT943 IMP: 10 EW:6 A 00 6
s Q5 s J93 2SN2 110 3.0 1 |[|a AKQT9 a5 4HW5 450 6.0 1
v AKQJ6 v 74 4CE-1 50 1.0 1 ||w K743 I v AT52 3NE4 430 6.0 1
¢ QJB3 * K5 3NW-1 50 1.0 1||e9 ¢ AKT74 6HW6 980 -13.0 3
& JT & A86542 3CW-1 50 1.0 1 K8 » A72
F*OVABN 4,72 3CE-1 50 1.0 1 o ¢ VBN o J7432
N ~~~1~ ¢T532 A 00 6||N ~~~~~ v 9
S ~~~ 1~ ¢AT874 4SN-2 4100 30 1||S ~~~~~ ¢ QJ8532
E 2~2~1 aK9 3CW3 110 30 1||E ~~5~6 %6
W 2 ~2~1 2SN-2 4100 -3.0 1 ~~5~5
2HW2 110 -3.0 1
3SN-3 150 -40 1
3HW3 140  -40 1
2HW4 470 50 1
# 13 » J76 3SW4 170 Mean: 2HS2 110 120 1 ||# 14 o T987 4SE-1-50 Mean: 5SE-2 100 30 1
v?2 5CXN-3 800 -600 3sw4 170 100 1 v AK3 5SE-2 -100 -10  4SE-1 50 20 11
* T8 Dif: -630 NS:-5 A 00 6 * K Dif: 50 NS:3 A 00 6
& QJ86532 IMP: -12 EW:-10 4SW4 620 -1.0 7 & K5432 IMP: 2 EW:-2 3SE3 140 40 3
& AK954 N ~ QT82 4SE4 620 1.0 2 ||a a AKQJ543 4SE4 420 9.0 1
v 83 v QT76 4SE5 650 -20 1 ||e QJT9875 v6
+ KQ5 + ¢ A762 3NE5 -660 -2.0 1 ¢ AJB52 ¢ 73
& AT7 a9 5CXN-3  -800 5.0 1 |[|a&7 » A96
®OVAN 3 4SXW4 790 -50 1 *OVAN 462
N 2~~~ ~ @« AKJ954 5HXS-4 -1100 110 1 [N 2~~~ ~ ¢ 42
S 2 ~~~~ ¢J943 S 2~~~~ ¢QT94
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 4SXN-1 200 Mean: 3DS3 110 9.0 1 ||# 16 s J974 4SE-3 -300 Mean: 4SE-3 300 11.0 1
v 3CE-1-50 -260 5CW-2 100 80 1 96 4SE-1-100 -210  4SE-2 200 9.0 1
+ KQ6 Dif: 250 NS:7 3CW-1 50 70 1 ¢ AQT32 Dif: -200 NS:7  4SE-1 100 7.0 1
& QT3 IMP: 6 EW:-2 3CE-1 50 70 1 » 98 IMP: -5 EW:-11 2HS-1 50 40 1
& AB52 » 98 4SN-1 100 40 1 ||s KQ83 # T652 3CXS-1 100 3.0 1
v4 v A98762 3SN-1 100 40 2 ||v QJ8 — v AKT 2HW2 110 3.0 1
o AJT ¢ 95 4SXN-1 200 20 1 ||e 865 * KJ9 1NE2 120 3.0 3
& AK954 » J76 3SN-2 200 20 2 ||a 753 » AQT 1NE3 4150 2.0 1
FOVAN A 00 6 o OVABN LA A 00 6
N ~2~1~ ¢ KQJT53 4SN-3 300 10 1[N 1~~~ ~ & 75432 4CXS-2 300 -3.0 1
S ~2~1~ 487432 3NN-5 500 60 1||S 1 ~~~~ ¢74 3NE4 630 9.0 1
E 2~~~1 482 3HXS-2 500 60 2 ||E ~~~22 &KJ642 3NE3 600 9.0 4
W 3~~~ ~ 4SXN-3 800 -11.0 1 ~~~21
5HXS-4 1100 -13.0 1
# 17 & 98652 4HW4 420 Mean: 4HW-1 50 80 2 ||# 18 a7 4SXE-1-100 Mean: 4HN4 620 120 1
v AQ5 4HW4 420 -300  3SN-1 -50 6.0 1 v AKQJ9 4SXW-1-100 20 3HN4 170 40 1
¢ 82 Dif: 0 NS:-3 3HE3 140 40 1 ¢ 9754 Dif: 0 NS:2 4SXW-1 100 20 1
& KQ5 IMP: 0 EW:3 2HW4 470 40 1 & AK4 IMP: 0 EW:-2 4SXE-1 100 20 4
a7 & AT43 A 00 6 ||as K52 & QJT963 4SE-1 50 1.0 1
v KJ8732 v T96 4HW4 420 -3.0 11| |e 5432 | CX:) 3SE-1 50 1.0 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 A 00 6
& AJ94 » 62 » 82 » QJ5 5HN-1 100 -3.0 2
P VAN ,KQJ oo VAN 4, A8 3HN-1 100 -3.0 1
N ~~~1~ w4 N 4~3~2 ¢T76 3SE3 140 40 3
S ~~~1~ ¢JT743 S 4~3~2 63 4HN-2 200 -6.0 1
E ~~4~1 &T873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 2SW-4 -400 Mean: 5CS5 400 60 1 |([|# 20 & AJT853 3SN3 -140 Mean: 3SN3 140 60 1
v AKJ 3CS5-150 180  3NS3 400 60 1 vwT 2HW5200 -110 2SN3 140 6.0 1
+ Q954 Dif: -250 NS:-1 2SW-4 400 60 2 ¢ T7 Dif: -340 NS:-3 2SN2 110 60 5
%6 IMP: -6 EW:-6 2SW-3 300 30 1 » KJ84 IMP: -8 EW:-6 2CN3 110 60 1
& Q96532 a J7 A 00 6 ||aKQ72 a9 A 00 6
v Q9 v 87642 2DN6 170 0.0 1 ||v KJ3 _I_ v Q9872 3DW3 110 0.0 1
¢ J2 * KT7 3CS5 150 1.0 1 ||e K8654 * A93 2NE2 4120 0.0 1
® QJ3 » A92 2DN5 150 1.0 1 ||s » 9765 3HE4 470 220 1
FOVAN , 3DN3 110 20 1 *eVAN 4,064 2HW5 200 -3.0 1
N 44~~3 ¢T53 3CS4 130 20 1 [|N 2 ~~2 ~ v A654 2SN-3 300 -5.0 1
S 34 ~~2 ¢A863 3CN4 130 20 1(|S 2~~2~ ¢QJ2 3NW3 -600 -10.0 1
E ~~~~~ & KT8754 2NN2 120 20 1||E ~34~1 &QT32 4HE4 620 -11.0 2
W o~~~ ~ ~ 2DN3 110 20 2 ~34~1
5DN-1 50 6.0 1
3NS-1 50 6.0 1




X AN >\ ¢ —_—
2 1NEFFr2ABEREFR e == R 2
4 +
AYA .
#1: 9 BER(39.1) #2: 1 THE(31.04) #3: 16 prime(30.77)
1 3 NS: #BIFE BEfan(EHC) 4 7 NS: EAE 5 E(FOo) -2 VP:| 1218 : 7.82 | Total VP: 24.69 Rank:
EW: BEEEE) £25(E0) 2 EW: [REZL BIH(BAC) -4 IMP:| 26 20 5
—
# 11 » AKT864 4CE-1-50 Mean: 5DXW-3 500 100 1 |[# 12 » 86 6HW-1-50 Mean: 6HW-2 100 7.0 1
v 98 3NE-2-100 10  4HW-2 100 3.0 1 v QJ86 6HW-1-50 -210 6HW-1 50 60 9
¢ 92 Dif: 50 NS:3 4CE-2 100 3.0 1 *6 Dif: 0 NS:6 3HW4 470 1.0 1
& Q73 IMP: 2 EW:-1  3NE-2 100 3.0 1 & QJT943 IMP: 0 EW:6 A 00 6
s Q5 s J93 2SN2 110 3.0 1 |[|a AKQT9 a5 4HW5 450 6.0 1
v AKQJ6 v 74 4CE-1 50 1.0 1 ||w K743 I v AT52 3NE4 430 6.0 1
¢ QJB3 * K5 3NW-1 50 1.0 1||e9 ¢ AKT74 6HW6 980 -13.0 3
& JT & A86542 3CW-1 50 10 1 K8 » A72
F*OVABN 4,72 3CE-1 50 1.0 1 o ¢ VBN o J7432
N ~~~1~ ¢T532 A 00 6||N ~~~~~ v 9
S ~~~ 1~ ¢AT874 4SN-2 4100 30 1||S ~~~~~ ¢ QJ8532
E 2~2~1 aK9 3CW3 110 30 1||E ~~5~6 %6
W 2 ~2~1 2SN-2 4100 -3.0 1 ~~5~5
2HW2 110 -3.0 1
3SN-3 150 -40 1
3HW3 140  -40 1
2HW4 470 50 1
# 13 o J76 4SXW4 790 Mean: 2HS2 110 120 1 ||# 14 o T987 4SE-1 -50 Mean: 5SE-2 100 30 1
v?2 4SW4 620 -600 3SW4 170 100 1 v AK3 3SE3140 -10  4SE-1 50 20 11
* T8 Dif: 170 NS:-1 A 00 6 * K Dif: -190 NS:-4 A 00 6
& QJ86532 IMP: 5 EW:5 4SW4 620 -1.0 7 & K5432 IMP: -5 EW:-2 3SE3 140 40 3
& AK954 N ~ QT82 4SE4 620 1.0 2 ||a a AKQJ543 4SE4 420 9.0 1
v 83 v QT76 4SE5 650 -20 1 ||e QJT9875 v6
+ KQ5 + ¢ A762 3NE5 -660 -2.0 1 ¢ AJB52 ¢ 73
& AT7 a9 5CXN-3  -800 5.0 1 |[|a&7 » A96
®OVAN 3 4SXW4 790 -50 1 *OVAN 462
N 2~~~ ~ @« AKJ954 5HXS-4 -1100 110 1 [N 2~~~ ~ ¢ 42
S 2 ~~~~ ¢J943 S 2~~~~ ¢QT94
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 5CW-2 -100 Mean: 3DS3 110 9.0 1 ||# 16 s J974 3NE3 600 Mean: 4SE-3 300 11.0 1
v 4SN-3 300 -260 5CW-2 100 80 1 96 3CXS-1100 -210 4SE-2 200 9.0 1
+ KQ6 Dif: -400 NS:-1  3CW-1 50 70 1 ¢ AQT32 Dif: 500 NS:3 4SE-1 100 7.0 1
& QT3 IMP: -9 EW:-8 3CE-1 50 70 1 » 98 IMP: 11 EW:9 2HS-1 50 40 1
& AB52 » 98 4SN-1 100 40 1 ||s KQ83 # T652 3CXS-1 100 3.0 1
v4 v A98762 3SN-1 100 40 2 ||v QJ8 — v AKT 2HW2 110 3.0 1
o AJT ¢ 95 4SXN-1 200 20 1 ||e 865 * KJ9 1NE2 120 3.0 3
& AK954 » J76 3SN-2 200 20 2 ||a 753 » AQT 1NE3 4150 2.0 1
FOVAN A 00 6 o OVABN LA A 00 6
N ~2~1~ ¢ KQJT53 4SN-3 300 10 1[N 1~~~ ~ & 75432 4CXS-2 300 -3.0 1
S ~2~1~ 487432 3NN-5 500 60 1||S 1 ~~~~ ¢74 3NE4 630 9.0 1
E 2~~~1 482 3HXS-2 500 60 2 ||E ~~~22 &KJ642 3NE3 600 9.0 4
W 3~~~ ~ 4SXN-3 800 -11.0 1 ~~~21
5HXS-4 1100 -13.0 1
# 17 & 98652 4HW4 420 Mean: 4HW-1 50 80 2 ||# 18 a7 4SXE-1-100 Mean: 4HN4 620 120 1
v AQ5 4HW4 420 -300 3SN-1 50 6.0 1 v AKQJ9 3SE3140 20  3HN4 170 40 1
¢ 82 Dif: 0 NS:-3 3HE3 140 40 1 ¢ 9754 Dif: -240 NS:-4 4SXW-1 100 20 1
& KQ5 IMP: 0 EW:3 2HW4 470 40 1 & AK4 IMP: -6 EW:-2 4SXE-1 100 20 4
a7 & AT43 A 00 6 ||as K52 & QJT963 4SE-1 50 1.0 1
v KJ8732 v T96 4HW4 420 -3.0 11| |e 5432 | CX:) 3SE-1 50 1.0 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 A 00 6
& AJ94 » 62 » 82 » QJ5 5HN-1 100 -3.0 2
P VAN ,KQJ oo VAN 4, A8 3HN-1 100 -3.0 1
N ~~~1~ w4 N 4~3~2 ¢T76 3SE3 140 40 3
S ~~~1~ ¢JT743 S 4~3~2 63 4HN-2 200 -6.0 1
E ~~4~1 &T873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 2NN2 -120 Mean: 5CS5 400 60 1 |([|# 20 & AJT853 3HE4 170 Mean: 3SN3 140 60 1
v AKJ 2DN5-150 180  3NS3 400 6.0 1 v T 2SN2 -110 -110  2SN3 140 6.0 1
+ Q954 Dif: 30 NS:-1  2sw-4 400 60 2 ¢ T7 Dif: 280 NS:6 2SN2 110 60 5
%6 IMP: 1 EW:2 2SW-3 300 30 1 » KJ84 IMP: 7 EW:2 2CN3 110 60 1
& Q96532 a J7 A 00 6 ||aKQ72 a9 A 00 6
v Q9 v 87642 2DN6 170 0.0 1 ||v KJ3 _I_ v Q9872 3DW3 110 0.0 1
¢ J2 * KT7 3CS5 150 1.0 1 ||e K8654 * A93 2NE2 4120 0.0 1
® QJ3 » A92 2DN5 150 1.0 1 ||s » 9765 3HE4 470 220 1
FOVAN , 3DN3 110 20 1 *eVAN 4,064 2HW5 200 -3.0 1
N 44~~3 ¢T53 3CS4 130 20 1 [|N 2 ~~2 ~ v A654 2SN-3 300 -5.0 1
S 34 ~~2 ¢A863 3CN4 130 20 1(|S 2~~2~ ¢QJ2 3NW3 -600 -10.0 1
E ~~~~~ & KT8754 2NN2 120 20 1||E ~34~1 &QT32 4HE4 620 -11.0 2
W o~~~ ~ ~ 2DN3 110 20 2 ~34~1
5DN-1 50 6.0 1
3NS-1 50 6.0 1




X AN >\ ¢ —_—
2 1NEFFr2ABEREFR e == R 2
4 +
AYA .
#1: 9 BER(39.1) #2: 1 THE(31.04) #3: 16 prime(30.77)
1 4 NS: HiEkE £F22EEC) 9 8 NS: RZiE $BEER(FO) 17 VP:| 3.22 16.78 | Total VP: 10.71 Rank:
EW: BE%E F£FEEI0) -17 EW: lREEE 215(FC) 9 IMP:| 11 : 35 20
—
# 11 » AKT864 2HW4 170 Mean: 5DXW-3 500 10.0 1 |[# 12 » 86 6HW-1-50 Mean: 6HW-2 100 7.0 1
v 98 2SN-2100 10  4HW-2 100 3.0 1 v QJ86 6HW-1-50 -210 6HW-1 50 60 9
¢ 92 Dif: 70 NS:-3 4CE-2 100 3.0 1 *6 Dif: 0 NS:6 3HW4 470 1.0 1
& Q73 IMP: 2 EW:5 3NE-2 100 3.0 1 & QJT943 IMP: 0 EW:6 A 00 6
s Q5 s J93 2SN2 110 3.0 1 |[|a AKQT9 a5 4HW5 450 6.0 1
v AKQJ6 v 74 4CE-1 50 1.0 1 ||w K743 I v AT52 3NE4 430 6.0 1
¢ QJB3 * K5 3NW-1 50 1.0 1||e9 ¢ AKT74 6HW6 980 -13.0 3
& JT & A86542 3CW-1 50 1.0 1 K8 » A72
F*OVABN 4,72 3CE-1 50 1.0 1 o ¢ VBN o J7432
N ~~~1~ ¢T532 A 00 6||N ~~~~~ v 9
S ~~~ 1~ ¢AT874 4SN-2 4100 30 1||S ~~~~~ ¢ QJ8532
E 2~2~1 aK9 3CW3 110 30 1||E ~~5~6 %6
W 2 ~2~1 2SN-2 4100 -3.0 1 ~~5~5
2HW2 110 -3.0 1
3SN-3 150 -40 1
3HW3 140  -40 1
2HW4 470 50 1
# 13 » J76 4SE4 620 Mean: 2HS2 110 120 1 ||# 14 o T987 4SE-1-50 Mean: 5SE-2 100 30 1
v?2 4SW4 620 -600 3SW4 170 100 1 v AK3 4SE-1-50 -10  4SE-1 50 20 1
* T8 Dif: 0 NS:-1 A 00 6 * K Dif: 0 NS:2 A 00 6
& QJ86532 IMP: 0 EW:1 4Sw4 620 -1.0 7 & K5432 IMP: 0 EW:-2 3SE3 140 40 3
& AK954 N ~ QT82 4SE4 620 1.0 2 ||a a AKQJ543 4SE4 420 9.0 1
v 83 v QT76 4SE5 650 -20 1 ||e QJT9875 v6
+ KQ5 + ¢ A762 3NE5 -660 -2.0 1 ¢ AJB52 ¢ 73
& AT7 a9 5CXN-3  -800 5.0 1 |[|a&7 » A96
®OVAN 3 4SXW4 790 -50 1 *OVAN 462
N 2~~~ ~ @« AKJ954 5HXS-4 -1100 110 1 [N 2~~~ ~ ¢ 42
S 2~~~ ~ ¢J943 S 2~~~~ ¢ QT984
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 3SN-2200 Mean: 3DS3 110 9.0 1 ||# 16 s J974 1NE2 120 Mean: 4SE-3 300 11.0 1
v 3HXS-2 500 -260 5CW-2 100 80 1 v 96 3NE3 600 -210 4SE-2 200 9.0 1
+ KQ6 Dif: -300 NS:-6 3CW-1 50 70 1 ¢ AQT32 Dif: -480 NS:-9 4SE-1 100 7.0 1
& QT3 IMP: -7 EW:-2 3CE-1 50 70 1 » 98 IMP: -10 EW:-3 2HS-1 50 40 1
& AB52 » 98 4SN-1 100 40 1 ||s KQ83 # T652 3CXS-1 100 3.0 1
v4 v A98762 3SN-1 100 40 2 ||v QJ8 — v AKT 2HW2 110 3.0 1
o AJT ¢ 95 4SXN-1 200 20 1 ||e 865 * KJ9 1NE2 120 3.0 3
& AK954 » J76 3SN-2 200 20 2 ||a 753 » AQT 1NE3 4150 2.0 1
FOVAN A 00 6 o OVABN LA A 00 6
N ~2~1~ ¢ KQJT53 4SN-3 300 10 1[N 1~~~ ~ & 75432 4CXS-2 300 -3.0 1
S ~2~1~ 487432 3NN-5 500 60 1||S 1 ~~~~ ¢74 3NE4 630 9.0 1
E 2~~~1 482 3HXS-2 500 60 2 ||E ~~~22 &KJ642 3NE3 600 9.0 4
W 3~~~ ~ 4SXN-3 800 -11.0 1 ~~~21
5HXS-4 1100 -13.0 1
# 17 & 98652 4HW4 420 Mean: 4HW-1 50 80 2 ||# 18 a7 4HN4 -620 Mean: 4HN4 620 120 1
v AQ5 4HW4 420 -300  3SN-1 -50 6.0 1 v AKQJ9 4SE-1-50 20 3HN4 170 40 1
¢ 82 Dif: 0 NS:-3 3HE3 140 40 1 ¢ 9754 Dif: -570 NS:1  4SXW-1 100 20 1
& KQ5 IMP: 0 EW:3 2HW4 470 40 1 & AK4 IMP: -11 EW:-12 4SXE-1 100 20 4
a7 & AT43 A 00 6 ||as K52 & QJT963 4SE-1 50 1.0 1
v KJ8732 v T96 4HW4 420 -3.0 11| |e 5432 | CX:) 3SE-1 50 1.0 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 A 00 6
& AJ94 » 62 » 82 » QJ5 5HN-1 100 -3.0 2
P VAN ,KQJ oo VAN 4, A8 3HN-1 100 -3.0 1
N ~~~1~ w4 N 4~3~2 ¢T76 3SE3 140 40 3
S ~~~1~ ¢JT743 S 4~3~2 63 4HN-2 200 -6.0 1
E ~~4~1 &T873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 5CS5 -400 Mean: 5CS5 400 60 1 |([|# 20 & AJT853 2SN-3 300 Mean: 3SN3 140 60 1
v AKJ 3CS4-130 180  3NS3 400 6.0 1 v T 2SN2 -110 -110  2SN3 140 6.0 1
+ Q954 Dif: -270 NS:-2 2SW-4 400 60 2 ¢ T7 Dif: 410 NS:6 2SN2 110 60 5
6 IMP: -7 EW:-6 2SW-3 300 30 1 » KJ84 IMP: 9 EW:5 2CN3 110 60 1
& Q96532 a J7 A 00 6 ||aKQ72 a9 A 00 6
v Q9 v 87642 2DN6 170 0.0 1 ||v KJ3 _I_ v Q9872 3DW3 110 0.0 1
¢ J2 * KT7 3CS5 150 1.0 1 ||e K8654 * A93 2NE2 4120 0.0 1
® QJ3 » A92 2DN5 150 1.0 1 ||s » 9765 3HE4 470 220 1
FOVAN , 3DN3 110 20 1 *eVAN 4,064 2HW5 200 -3.0 1
N 44~~3 ¢T53 3CS4 130 20 1 [|N 2 ~~2 ~ v A654 2SN-3 300 -5.0 1
S 34 ~~2 ¢A863 3CN4 130 20 1(|S 2~~2~ ¢QJ2 3NW3 -600 -10.0 1
E ~~~~~ & KT8754 2NN2 120 20 1||E ~34~1 &QT32 4HE4 620 -11.0 2
W o~~~ ~ ~ 2DN3 110 20 2 ~34~1
5DN-1 50 6.0 1
3NS-1 50 6.0 1




X AN >\ ¢ —_—
2 1NEFFr2ABEREFR e == R 2
4 +
AYA .
#1: 9 BER(39.1) #2: 1 THE(31.04) #3: 16 prime(30.77)
1 5 NS: B HMEEEIC) 1 5 NS: B REE(BRO) -3 VP:| 10.77 : 9.23 Total VP: 17.34 Rank:
EW: #5E ERZEI0) 3 EW: FEE fE5=R(BAC) 1 IMP:| 27 25 16
—
# 11 » AKT864 4SN-2 100 Mean: 5DXW-3 500 10.0 1 ||# 12 » 86 6HW-1-50 Mean: 6HW-2 100 7.0 1
v 98 2SN2 -110 10  4HW-2 100 3.0 1 v QJ86 6HW-1-50 -210 6HW-1 50 60 9
¢ 92 Dif: 210 NS:3  4CE-2 100 3.0 1 *6 Dif: 0 NS:6 3HW4 470 1.0 1
& Q73 IMP: 5 EW:3 3NE-2 100 3.0 1 & QJT943 IMP: 0 EW:6 A 00 6
s Q5 s J93 2SN2 110 3.0 1 |[|a AKQT9 a5 4HW5 450 6.0 1
v AKQJ6 v 74 4CE-1 50 1.0 1 ||w K743 I v AT52 3NE4 430 6.0 1
¢ QJB3 * K5 3NW-1 50 1.0 1||e9 ¢ AKT74 6HW6 980 -13.0 3
& JT & A86542 3CW-1 50 1.0 1 K8 » A72
F*OVABN 4,72 3CE-1 50 1.0 1 o ¢ VBN o J7432
N ~~~1~ ¢T532 A 00 6||N ~~~~~ v 9
S ~~~ 1~ ¢AT874 4SN-2 4100 30 1||S ~~~~~ ¢ QJ8532
E 2~2~1 aK9 3CW3 110 30 1||E ~~5~6 %6
W 2 ~2~1 2SN-2 4100 -3.0 1 ~~5~5
2HW2 110 -3.0 1
3SN-3 150 -40 1
3HW3 140  -40 1
2HW4 470 50 1
# 13 o J76 5HXS-4 1100 Mean: 2HS2 110 120 1 ||# 14 o T987 4SE-1-50 Mean: 5SE-2 100 30 1
v?2 4SW4 620 -600 3SW4 170 100 1 v AK3 4SE-1-50 -10  4SE-1 50 20 1
* T8 Dif: 480 NS:-1 A 00 6 * K Dif: 0 NS:2 A 00 6
& QJ86532 IMP: 10 EW:11 4sw4 620 -1.0 7 & K5432 IMP: 0 EW:-2 3SE3 140 40 3
& AK954 N ~ QT82 4SE4 620 1.0 2 ||a a AKQJ543 4SE4 420 9.0 1
v 83 v QT76 4SE5 650 -20 1 ||e QJT9875 v6
+ KQ5 + ¢ A762 3NE5 -660 -2.0 1 ¢ AJB52 ¢ 73
& AT7 a9 5CXN-3  -800 5.0 1 |[|a&7 » A96
®OVAN 3 4SXW4 790 -50 1 *OVAN 462
N 2~~~ ~ @« AKJ954 5HXS-4 -1100 110 1 [N 2~~~ ~ ¢ 42
S 2~~~ ~ ¢J943 S 2~~~~ ¢ QT984
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 3HXS-2 500 Mean: 3DS3 110 9.0 1 ||# 16 s J974 2HS-150 Mean: 4SE-3 300 11.0 1
v 4SXN-3 800 -260 5CW-2 100 80 1 96 3NE3 600 -210 4SE-2 200 9.0 1
+ KQ6 Dif: -300 NS:-11 3CW-1 50 70 1 ¢ AQT32 Dif: -550 NS:-9 4SE-1 100 7.0 1
& QT3 IMP: -7 EW:6 3CE-1 50 70 1 » 98 IMP: -11 EW:-4 2HS-1 50 40 1
& AB52 » 98 4SN-1 100 40 1 ||s KQ83 # T652 3CXS-1 100 3.0 1
v4 v A98762 3SN-1 100 40 2 ||v QJ8 — v AKT 2HW2 110 3.0 1
o AJT ¢ 95 4SXN-1 200 20 1 ||e 865 * KJ9 1NE2 120 3.0 3
& AK954 » J76 3SN-2 200 20 2 ||a 753 » AQT 1NE3 4150 2.0 1
FOVAN A 00 6 o OVABN LA A 00 6
N ~2~1~ ¢ KQJT53 4SN-3 300 10 1[N 1~~~ ~ & 75432 4CXS-2 300 -3.0 1
S ~2~1~ 487432 3NN-5 500 60 1||S 1 ~~~~ ¢74 3NE4 630 9.0 1
E 2~~~1 482 3HXS-2 500 60 2 ||E ~~~22 &KJ642 3NE3 600 9.0 4
W 3~~~ ~ 4SXN-3 800 -11.0 1 ~~~21
5HXS-4 1100 -13.0 1
# 17 & 98652 3HE3 140 Mean: 4HW-1 50 80 2 ||# 18 a7 5HN-1 100 Mean: 4HN4 620 120 1
v AQ5 4HW4 420 -300  3SN-1 -50 6.0 1 v AKQJ9 4SXE-1-100 20 3HN4 170 40 1
¢ 82 Dif: -280 NS:-3 3HE3 140 40 1 ¢ 9754 Dif: 200 NS:2 4SXW-1 100 20 1
& KQ5 IMP: -7 EW:-4 2HW4 470 40 1 & AK4 IMP: 5 EW:3 4SXE-1 100 20 4
a7 & AT43 A 00 6 ||as K52 & QJT963 4SE-1 50 1.0 1
v KJ8732 v T96 4HW4 420 -3.0 11| |e 5432 | CX:) 3SE-1 50 1.0 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 A 00 6
& AJ94 » 62 » 82 » QJ5 5HN-1 100 -3.0 2
P VAN ,KQJ oo VAN 4, A8 3HN-1 100 -3.0 1
N ~~~1~ w4 N 4~3~2 ¢T76 3SE3 140 40 3
S ~~~1~ ¢JT743 S 4~3~2 63 4HN-2 200 -6.0 1
E ~~4~1 &T873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 2DN3 -110 Mean: 5CS5 400 60 1 |([|# 20 & AJT853 2CN3 -110 Mean: 3SN3 140 60 1
v AKJ 3NS3 -400 180  3NS3 400 6.0 1 v T 2SN2 -110 -110  2SN3 140 6.0 1
+ Q954 Dif: 290 NS:6 2SW-4 400 60 2 ¢ T7 Dif: 0 NS:6 2SN2 110 60 5
6 IMP: 7 EW:2 2SW-3 300 30 1 » KJ84 IMP: 0 EW:-6 2CN3 110 60 1
& Q96532 a J7 A 00 6 ||aKQ72 a9 A 00 6
v Q9 v 87642 2DN6 170 0.0 1 ||v KJ3 _I_ v Q9872 3DW3 110 0.0 1
¢ J2 * KT7 3CS5 150 1.0 1 ||e K8654 * A93 2NE2 4120 0.0 1
® QJ3 » A92 2DN5 150 1.0 1 ||s » 9765 3HE4 470 220 1
FOVAN , 3DN3 110 20 1 *eVAN 4,064 2HW5 200 -3.0 1
N 44~~3 ¢T53 3CS4 130 20 1 [|N 2 ~~2 ~ v A654 2SN-3 300 -5.0 1
S 34 ~~2 ¢A863 3CN4 130 20 1(|S 2~~2~ ¢QJ2 3NW3 -600 -10.0 1
E ~~~~~ & KT8754 2NN2 120 20 1||E ~34~1 &QT32 4HE4 620 -11.0 2
W o~~~ ~ ~ 2DN3 110 20 2 ~34~1
5DN-1 50 6.0 1
3NS-1 50 6.0 1




X AN >\ ¢ —_—
2 1NEFFr2ABEREFR e == R 2
4 +
AYA .
#1: 9 BER(39.1) #2: 1 THE(31.04) #3: 16 prime(30.77)
1 6 NS: B BEESCERC) 12 6 NS: fE{8% 2R (BR0) -2 VP:| 17.34 : 2.66 | Total VP: 30.77 Rank:
EW: & 0& HREREEFO) 21 EW: BBEI3C B2 (BAC) 1 IMP:| 39 12 3
—
# 11 » AKT864 2HW2 110 Mean: 5DXW-3 500 10.0 1 |[# 12 » 86 6HW6 980 Mean: 6HW-2 100 7.0 1
v 98 5DXW-3 -500 10  4HW-2 100 3.0 1 v QJ86 6HW-1-50 -210 6HW-1 50 60 9
¢ 92 Dif: 610 NS:10 4CE-2 100 3.0 1 *6 Dif: 1030 NS:6 3HWA4 470 1.0 1
& Q73 IMP: 12 EW:3  3NE-2 100 3.0 1 & QJT943 IMP: 14 EW:13 A 00 6
s Q5 s J93 2SN2 110 3.0 1 |[|a AKQT9 a5 4HW5 450 6.0 1
v AKQJ6 v 74 4CE-1 50 1.0 1 ||w K743 I v AT52 3NE4 430 6.0 1
¢ QJB3 * K5 3NW-1 50 1.0 1||e9 ¢ AKT74 6HW6 980 -13.0 3
& JT & A86542 3CW-1 50 1.0 1 K8 » A72
F*OVABN 4,72 3CE-1 50 1.0 1 o ¢ VBN o J7432
N ~~~1~ ¢T532 A 00 6||N ~~~~~ v 9
S ~~~ 1~ ¢AT874 4SN-2 4100 30 1||S ~~~~~ ¢ QJ8532
E 2~2~1 aK9 3CW3 110 30 1||E ~~5~6 %6
W 2 ~2~1 2SN-2 4100 -3.0 1 ~~5~5
2HW2 110 -3.0 1
3SN-3 150 -40 1
3HW3 140  -40 1
2HW4 470 50 1
# 13 » J76 4SW4 620 Mean: 2HS2 110 120 1 ||# 14 o T987 4SE-1-50 Mean: 5SE-2 100 30 1
v?2 4SW4 620 -600 3SW4 470 100 1 v AK3 4SE-1-50 -10  4SE-1 50 20 1
* T8 Dif: 0 NS:-1 A 00 6 * K Dif: 0 NS:2 A 00 6
& QJ86532 IMP: 0 EW:1 4sw4 620 -1.0 7 & K5432 IMP: 0 EW:-2 3SE3 140 40 3
& AK954 N ~ QT82 4SE4 620 1.0 2 ||a a AKQJ543 4SE4 420 9.0 1
v 83 v QT76 4SE5 650 -20 1 ||e QJT9875 v6
+ KQ5 + ¢ A762 3NE5 -660 -2.0 1 ¢ AJB52 ¢ 73
& AT7 a9 5CXN-3  -800 5.0 1 |[|a&7 » A96
®OVAN 3 4SXW4 790 -50 1 *OVAN 462
N 2~~~ ~ @« AKJ954 5HXS-4 -1100 110 1 [N 2~~~ ~ ¢ 42
S 2~~~ ~ ¢J943 S 2~~~~ ¢ QT984
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 3SN-1 100 Mean: 3DS3 110 9.0 1 ||# 16 s J974 4SE-2 -200 Mean: 4SE-3 300 11.0 1
v 3SN-1100 -260 5CW-2 100 80 1 96 4CXS-2300 -210 4SE-2 200 9.0 1
+ KQ6 Dif: 0 NS:4 3CW-1 50 70 1 ¢ AQT32 Dif: -500 NS:-3 4SE-1 100 7.0 1
& QT3 IMP: 0 EW:-4 3CE-1 50 70 1 » 98 IMP: -11 EW:-9 2HS-1 50 40 1
& AB52 » 98 4SN-1 100 40 1 ||s KQ83 # T652 3CXS-1 100 3.0 1
v4 v A98762 3SN-1 100 40 2 ||v QJ8 — v AKT 2HW2 110 3.0 1
o AJT ¢ 95 4SXN-1 200 20 1 ||e 865 * KJ9 1NE2 120 3.0 3
& AK954 » J76 3SN-2 200 20 2 ||a 753 » AQT 1NE3 4150 2.0 1
FOVAN A 00 6 o OVABN LA A 00 6
N ~2~1~ ¢ KQJT53 4SN-3 300 10 1[N 1~~~ ~ & 75432 4CXS-2 300 -3.0 1
S ~2~1~ 487432 3NN-5 500 60 1||S 1 ~~~~ ¢74 3NE4 630 9.0 1
E 2~~~1 482 3HXS-2 500 60 2 ||E ~~~22 & KJB42 3NE3 600 9.0 4
W 3~~~ ~ 4SXN-3 800 -11.0 1 ~~~21
5HXS-4 1100 -13.0 1
# 17 & 98652 4HW4 420 Mean: 4HW-1 50 80 2 ||# 18 a7 3SE3 140 Mean: 4HN4 620 120 1
v AQ5 4HW4 420 -300  3SN-1 -50 6.0 1 v AKQJ9 4SXE-1-100 20 3HN4 170 40 1
¢ 82 Dif: 0 NS:-3 3HE3 140 40 1 ¢ 9754 Dif: 240 NS:2 4SXW-1 100 20 1
& KQ5 IMP: 0 EW:3 2HW4 470 40 1 & AK4 IMP: 6 EW:4 4SXE-1 100 20 4
a7 & AT43 A 00 6 ||as K52 & QJT963 4SE-1 50 1.0 1
v KJ8732 v T96 4HW4 420 -3.0 11| |e 5432 | CX:) 3SE-1 50 1.0 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 A 00 6
& AJ94 » 62 » 82 » QJ5 5HN-1 100 -3.0 2
P VAN ,KQJ oo VAN 4, A8 3HN-1 100 -3.0 1
N ~~~1~ w4 N 4~3~2 ¢T76 3SE3 140 40 3
S ~~~1~ ¢JT743 S 4~3~2 63 4HN-2 200 -6.0 1
E ~~4~1 &T873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 2DN3 -110 Mean: 5CS5 400 60 1 |([|# 20 & AJT853 3NW3 600 Mean: 3SN3 140 60 1
v AKJ 2SW-4 -400 180  3NS3 400 6.0 1 v T 4HE4 620 -110  2SN3 140 6.0 1
+ Q954 Dif: 290 NS:6 2SW-4 400 60 2 ¢ T7 Dif: -20 NS:-11 2SN2 110 60 5
%6 IMP: 7 EW:2 2SW-3 300 30 1 » KJ84 IMP: -1 EW:10 2CN3 110 6.0 1
& Q96532 a J7 A 00 6 ||aKQ72 a9 A 00 6
v Q9 v 87642 2DN6 170 0.0 1 ||v KJ3 _I_ v Q9872 3DW3 110 0.0 1
¢ J2 * KT7 3CS5 150 1.0 1 ||e K8654 * A93 2NE2 4120 0.0 1
® QJ3 » A92 2DN5 150 1.0 1 ||s » 9765 3HE4 470 220 1
FOVAN , 3DN3 110 20 1 *eVAN 4,064 2HW5 200 -3.0 1
N 44~~3 ¢T53 3CS4 130 20 1 [|N 2 ~~2 ~ v A654 2SN-3 300 -5.0 1
S 34 ~~2 ¢A863 3CN4 130 20 1(|S 2~~2~ ¢QJ2 3NW3 -600 -10.0 1
E ~~~~~ & KT8754 2NN2 120 20 1||E ~34~1 &QT32 4HE4 620 -11.0 2
W o~~~ ~ ~ 2DN3 110 20 2 ~34~1
5DN-1 50 6.0 1
3NS-1 50 6.0 1




X AN >\ ¢ —_—
2 1NEFFr2ABEREFR e == R 2
. Q B .1 Zn N\ #2- :
#1: 9 BEAR(39.1) #2: 1 FE(31.04) #3: 16 prime(30.77)
1 7 NS: (B80) 0 18 NS: (BAC) 0 VP:| 10.00 : 10.00| Total VP: 20.00 Rank:
EW: (BEC)0 EW: (Bd0)0 IMP:| 0 0 9
—
# 11 » AKT864 Mean: 5DXW-3 500 10.0 1 |[# 12 » 86 Mean: 6HW-2 100 7.0 1
v 98 10 4HW-2 100 3.0 1 v QJ86 210 6HW-1 50 60 9
92 Dif: NS:0 4CE-2 100 3.0 1 ¢ 6 Dif: NS:0 3HW4 470 1.0 1
» Q73 IMP: EW:0 3NE-2 100 3.0 1 & QJT943 IMP: EW:0 A 00 6
s Q5 » J93 2SN2 110 3.0 1 ||a AKQT9 a5 4HW5 450 6.0 1
v AKQJ6 v 74 4CE-1 50 1.0 1 ||w K743 I v AT52 3NE4 430 6.0 1
¢ QJB3 * K5 3NW-1 50 1.0 1||e9 ¢ AKT74 6HW6 980 -13.0 3
& JT & A86542 3CW-1 50 10 1 K8 & A72
F*OVABN 4,72 3CE-1 50 1.0 1 o ¢ VBN o J7432
N ~~~1~ 9T532 A 00 6 (IN ~~~~~ v9
S ~~~ 1~ ¢AT874 4SN-2 4100 30 1||S ~~~~~ ¢ QJ8532
E 2~2~1 aK9 3CW3 110 30 1||E ~~5~6 &6
W 2 ~2~1 2SN-2 4100 -3.0 1 ~~5~5
2HW2 110 -3.0 1
3SN-3 150 -40 1
3HW3 140  -40 1
2HW4 470 50 1
# 13 » J76 Mean: 2HS2 110 120 1 ||# 14 o T987 Mean: 5SE-2 100 30 1
v?2 600  3SW4 470 100 1 v AK3 10  4SE-1 50 20 1
¢ T8 Dif: NS:0 A 00 6 ¢ K Dif: NS:0 A 00 6
& QJ86532 IMP: EW:0 4sw4 620 -1.0 7 & K5432 IMP: EW:0 3SE3 140 40 3
& AK954 N » QT82 4SE4 620 1.0 2 ||a a AKQJ543 4SE4 420 9.0 1
v 83 v QT76 4SE5 650 -20 1 ||e QJT9875 v6
+ KQ5 + ¢ A762 3NES -660 -2.0 1 ¢ AJB52 ¢ 73
& AT7 a9 5CXN-3  -800 5.0 1 |[|a&7 » A96
FOVAN 3 4SXW4 790 -50 1 *OVAN 462
N 2 ~ ~ ~ ~ » AKJ954 5HXS-4 -1100 110 1 [N 2~~~ ~ ¢ 42
S 2~~~ ~ ¢J943 S 2~~~~ ¢ QT984
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 Mean: 3DS3 110 9.0 1 ||# 16 » J974 Mean: 4SE-3 300 110 1
v 260  5CW-2 100 80 1 96 210  4SE-2 200 9.0 1
«» KQ6 Dif: NS:0 3CW-1 50 70 1 ¢ AQT32 Dif: NS:0 4SE-1 100 7.0 1
» QT3 IMP: EW:0 3CE-1 50 70 1 » 98 IMP: EW:0 2HS-1 50 40 1
& AB52 » 98 4SN-1 100 40 1 ||a KQ83 # T652 3CXS-1 100 3.0 1
v4 v A98762 3SN-1 100 40 2 ||v QJ8 — v AKT 2HW2 110 3.0 1
o AJT ¢ 95 4SXN-1 200 20 1 ||e 865 * KJ9 1NE2 120 3.0 3
& AK954 » J76 3SN-2 200 20 2 ||a 753 » AQT 1NE3 4150 2.0 1
FOVAN A 00 6 o OVABN LA A 00 6
N ~2~1~ ¢ KQT53 4SN-3 3000 <10 1 |IN 1~~~ ~ o 75432 4CXS-2 300 -3.0 1
S ~2~1~ ¢87432 3NN-5 500 60 1 ||S 1 ~~~~ &74 3NE4 630 9.0 1
E 2~~~1 482 3HXS-2 500 60 2 ||E ~~~22 &KJ642 3NE3 600 9.0 4
W 3~~~ ~ 4SXN-3 800 -11.0 1 ~~~21
5HXS-4 1100 -13.0 1
# 17 & 98652 Mean: 4HW-1 50 80 2 ||# 18 a7 Mean: 4HN4 620 120 1
v AQ5 -300  3SN-1 50 6.0 1 v AKQJ9 20  3HN4 170 40 1
¢ 82 Dif: NS:0 3HE3 140 40 1 ¢ 9754 Dif: NS:0 4SXW-1 100 20 1
& KQ5 IMP: EW:0 2HW4 470 40 1 & AK4 IMP: EW:0 4SXE-1 100 20 4
a7 & AT43 A 00 6 ||as K52 & QJT963 4SE-1 50 1.0 1
v KJ8732 v T96 4HW4 420 -3.0 11| |e 5432 | v38 3SE-1 50 1.0 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 A 00 6
& AJ94 » 62 » 82 » QJ5 5HN-1 100 -3.0 2
P ¢ VAN o, KQJ oo VAN 4, A8 3HN-1 100 -3.0 1
N ~~~1~ o4 N 4~3~2 ¢T76 3SE3 140 40 3
S ~~~1~ ¢JT743 S 4~3~2 63 4HN-2 200 -6.0 1
E ~~4~1 &T873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 Mean: 5CS5 400 60 1 |[|# 20 & AJT853 Mean: 3SN3 140 60 1
v AKJ 180  3NS3 400 6.0 1 v T 110  2SN3 140 6.0 1
» Q954 Dif: NS:0 2sw-4 400 60 2 ¢ T7 Dif: NS:0 2SN2 110 60 5
» 6 IMP: EW:0 2SW-3 300 30 1 » KJ84 IMP: EW:0 2CN3 110 6.0 1
4 Q96532 a J7 A 0.0 6 ||a KQ72 a9 A 00 6
v Q9 v 87642 2DN6 170 0.0 1 ||v KJ3 _I_ v Q9872 3DW3 110 0.0 1
¢ J2 * KT7 3Cs5 150 1.0 1 ||e K8654 ¢ A93 2NE2 4120 0.0 1
® QJ3 » A92 2DN5 150 1.0 1 ||s » 9765 3HE4 470 220 1
FOVAN , 3DN3 110 20 1 *eVAN 4,064 2HW5 200 -3.0 1
N 44~~3 ¢T53 3CS4 130 20 1 [|N 2 ~~2 ~ v A654 2SN-3 300 -5.0 1
S 34 ~~2 ¢A863 3CN4 130 20 1(|S 2~~2~ ¢QJ2 3NW3 -600 -10.0 1
E ~~~~~ & KT8754 2NN2 120 20 1||E ~34~1 &QT32 4HE4 620 -11.0 2
W ~ ~ ~ ~ ~ 2DN3 110 20 2 ~34~1
5DN-1 50 6.0 1
3NS-1 50 6.0 1




X AN >\ ¢ —_—
2 1NEFFr2ABEREFR e == R 2
. Q B .1 Zn N\ #2- :
#1: 9 BEAR(39.1) #2: 1 FE(31.04) #3: 16 prime(30.77)
1 8 NS: (BC) 0 17 NS: (F80)0 VP:| 10.00 : 10.00| Total VP: 20.00 Rank:
EW: (550)0 EW: (BiC) 0 IMP:| 0 0 9
—
# 11 » AKT864 A Mean: 5DXW-3 500 100 1 |[# 12 » 86 A Mean: 6HW-2 100 7.0 1
v 98 A 10  4HW-2 100 3.0 1 v QJ86 A 210 B6HW-1 50 60 9
92 Dif: 0 NS:0 4CE-2 100 3.0 1 ¢ 6 Dif: 0 NS:0 3HW4 470 1.0 1
» Q73 IMP: 0 EW:0 3NE-2 100 3.0 1 & QJT943 IMP: 0 EW:0 A 00 6
s Q5 » J93 2SN2 110 3.0 1 ||a AKQT9 a5 4HW5 450 6.0 1
v AKQJ6 v 74 4CE-1 50 1.0 1 ||w K743 I v AT52 3NE4 430 6.0 1
¢ QJB3 * K5 3NW-1 50 1.0 1||e9 ¢ AKT74 6HW6 980 -13.0 3
& JT & A86542 3CW-1 50 10 1 K8 & A72
F*OVABN 4,72 3CE-1 50 1.0 1 o ¢ VBN o J7432
N ~~~1~ 9T532 A 00 6(|N ~~~~~ v 9
S ~~~ 1~ ¢AT874 4SN-2 4100 30 1||S ~~~~~ ¢ QJ8532
E 2~2~1 aK9 3CW3 110 30 1||E ~~5~6 %6
W 2 ~2~1 2SN-2 4100 -3.0 1 ~~5~5
2HW2 110 -3.0 1
3SN-3 150 -40 1
3HW3 140  -40 1
2HW4 470 50 1
# 13 » J76 A Mean: 2HS2 110 120 1 ||# 14 o T987 A Mean: 5SE-2 100 30 1
v?2 A -600 3SW4 470 100 1 v AK3 A 10  4SE-1 50 20 1
¢ T8 Dif: 0 NS:0 A 00 6 ¢ K Dif: 0 NS:0 A 00 6
& QJ86532 IMP: 0 EW:0 4Sw4 620 -1.0 7 & K5432 IMP: 0 EW:0 3SE3 140 40 3
& AK954 N » QT82 4SE4 620 1.0 2 ||a a AKQJ543 4SE4 420 9.0 1
v 83 v QT76 4SE5 650 -20 1 ||e QJT9875 v6
+ KQ5 + ¢ A762 3NES -660 -2.0 1 ¢ AJB52 ¢ 73
& AT7 a9 5CXN-3  -800 5.0 1 |[|a&7 » A96
FOVAN 3 4SXW4 790 -50 1 *OVAN 462
N 2 ~ ~ ~ ~ » AKJ954 5HXS-4 -1100 110 1 [N 2~~~ ~ ¢ 42
S 2~~~ ~ ¢J943 S 2~~~~ ¢ QT984
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 A Mean: 3DS3 110 9.0 1 ||# 16 a J974 A Mean: 4SE-3 300 110 1
v A -260 5CW-2 100 80 1 96 A -210 4SE-2 200 9.0 1
«» KQ6 Dif: 0 NS:0 3CW-1 50 70 1 ¢ AQT32 Dif: 0 NS:0 4SE-1 100 7.0 1
» QT3 IMP: 0 EW:0 3CE-1 50 70 1 » 98 IMP: 0 EW:0 2HS-1 50 40 1
& AB52 » 98 4SN-1 100 40 1 ||a KQ83 # T652 3CXS-1 100 3.0 1
v4 v A98762 3SN-1 100 40 2 ||v QJ8 — v AKT 2HW2 110 3.0 1
o AJT ¢ 95 4SXN-1 200 20 1 ||e 865 * KJ9 1NE2 120 3.0 3
& AK954 » J76 3SN-2 200 20 2 ||a 753 » AQT 1NE3 4150 2.0 1
FOVAN A 00 6 o OVABN LA A 00 6
N ~2~1~ ¢ KQT53 4SN-3 3000 <10 1 |IN 1~~~ ~ o 75432 4CXS-2 300 -3.0 1
S ~2~1~ ¢87432 3NN-5 500 60 1 ||S 1 ~~~~ &74 3NE4 630 9.0 1
E 2~~~1 482 3HXS-2 500 60 2 ||E ~~~22 &KJ642 3NE3 600 9.0 4
W 3~~~ ~ 4SXN-3 800 -11.0 1 ~~~21
5HXS-4 1100 -13.0 1
# 17 & 98652 A Mean: 4HW-1 50 80 2 ||# 18 a7 A Mean: 4HN4 620 120 1
v AQ5 A -300 3SN-1 50 6.0 1 v AKQJ9 A 20 3HN4 170 40 1
¢ 82 Dif: 0 NS:0 3HE3 140 40 1 ¢ 9754 Dif: 0 NS:0 4SXW-1 100 20 1
& KQ5 IMP: 0 EW:0 2HW4 470 40 1 & AK4 IMP: 0 EW:0 4SXE-1 100 20 4
a7 & AT43 A 00 6 ||as K52 & QJT963 4SE-1 50 1.0 1
v KJ8732 v T96 4HW4 420 -3.0 11| |e 5432 | v38 3SE-1 50 1.0 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 A 00 6
& AJ94 » 62 » 82 » QJ5 5HN-1 100 -3.0 2
P ¢ VAN o, KQJ oo VAN 4, A8 3HN-1 100 -3.0 1
N ~~~1~ o4 N 4~3~2 ¢T76 3SE3 140 40 3
S ~~~1~ ¢JT743 S 4~3~2 63 4HN-2 200 -6.0 1
E ~~4~1 &T873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 A Mean: 5CS5 400 60 1 |([|# 20 & AJT853 A Mean: 3SN3 140 60 1
v AKJ A 180  3NS3 400 6.0 1 v T A -110  2SN3 140 6.0 1
+ Q954 Dif: 0 NS:0 2sw-4 400 60 2 ¢ T7 Dif: 0 NS:0 2SN2 110 60 5
» 6 IMP: 0 EW:0 2SW-3 300 30 1 » KJ84 IMP: 0 EW:0 2CN3 110 6.0 1
» Q96532 a J7 A 00 6 ||aKQ72 a9 A 00 6
v Q9 v 87642 2DN6 170 0.0 1 ||v KJ3 _I_ v Q9872 3DW3 110 0.0 1
¢ J2 * KT7 3Cs5 150 1.0 1 ||e K8654 * A93 2NE2 4120 0.0 1
® QJ3 » A92 2DN5 150 1.0 1 ||s » 9765 3HE4 470 220 1
FOVAN , 3DN3 110 20 1 *eVAN 4,064 2HW5 200 -3.0 1
N 44~~3 ¢T53 3CS4 130 20 1 [|N 2 ~~2 ~ v A654 2SN-3 300 -5.0 1
S 34 ~~2 ¢A863 3CN4 130 20 1(|S 2~~2~ ¢QJ2 3NW3 -600 -10.0 1
E ~~~~~ & KT8754 2NN2 120 20 1||E ~34~1 &QT32 4HE4 620 -11.0 2
W ~ ~ ~ ~ ~ 2DN3 110 20 2 ~34~1
5DN-1 50 6.0 1
3NS-1 50 6.0 1




X AN >\ ¢ —_—
2 1NEFFr2ABEREFR e == R 2
. Q B .1 Zn N\ #2- :
#1: 9 BEAR(39.1) #2: 1 FE(31.04) #3: 16 prime(30.77)
1 9 NS: (B80) 0 20 NS: (BAC) 0 VP:| 10.00 : 10.00| Total VP: 20.00 Rank:
EW: (HC) 0 EW: (F0) 0 IMP:] 0 : 0 9
—
# 11 » AKT864 Mean: 5DXW-3 500 10.0 1 |[# 12 » 86 Mean: 6HW-2 100 7.0 1
v 98 10 4HW-2 100 3.0 1 v QJ86 210 6HW-1 50 60 9
92 Dif: NS:0 4CE-2 100 3.0 1 ¢ 6 Dif: NS:0 3HW4 470 1.0 1
» Q73 IMP: EW:0 3NE-2 100 3.0 1 & QJT943 IMP: EW:0 A 00 6
s Q5 » J93 2SN2 110 3.0 1 ||a AKQT9 a5 4HW5 450 6.0 1
v AKQJ6 v 74 4CE-1 50 1.0 1 ||w K743 I v AT52 3NE4 430 6.0 1
+ QJ63 * K5 3NW-1 50 1.0 1||e9 ¢ AKT74 6HW6 980 -13.0 3
& JT & A86542 3CW-1 50 10 1 K8 & A72
F*OVABN 4,72 3CE-1 50 1.0 1 o ¢ VBN o J7432
N ~~~1~ 9T532 A 00 6 (IN ~~~~~ v9
S ~~~ 1~ ¢AT874 4SN-2 4100 30 1||S ~~~~~ ¢ QJ8532
E 2~2~1 aK9 3CW3 110 30 1||E ~~5~6 &6
W 2 ~2~1 2SN-2 4100 -3.0 1 ~~5~5
2HW2 110 -3.0 1
3SN-3 150 -40 1
3HW3 140  -40 1
2HW4 470 50 1
# 13 » J76 Mean: 2HS2 110 120 1 ||# 14 o T987 Mean: 5SE-2 100 30 1
v?2 600  3SW4 470 100 1 v AK3 10  4SE-1 50 20 1
¢ T8 Dif: NS:0 A 00 6 ¢ K Dif: NS:0 A 00 6
& QJ86532 IMP: EW:0 4sw4 620 -1.0 7 & K5432 IMP: EW:0 3SE3 140 40 3
& AK954 N » QT82 4SE4 620 1.0 2 ||a a AKQJ543 4SE4 420 9.0 1
v 83 v QT76 4SE5 650 -20 1 ||e QJT9875 v6
+ KQ5 + ¢ A762 3NES 660 -2.0 1 ¢ AJB52 ¢ 73
& AT7 a9 5CXN-3  -800 5.0 1 |[|a&7 » A96
FOVAN 3 4SXW4 790 -50 1 *OVAN 462
N 2 ~ ~ ~ ~ » AKJ954 5HXS-4 1100 -11.0 1 |IN 2 ~ ~ ~ ~ ¢ 42
S 2~~~ ~ ¢J943 S 2~~~~ ¢ QT984
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 Mean: 3DS3 110 9.0 1 ||# 16 » J974 Mean: 4SE-3 300 110 1
v 260  5CW-2 100 80 1 96 210  4SE-2 200 9.0 1
«» KQ6 Dif: NS:0 3CW-1 50 70 1 ¢ AQT32 Dif: NS:0 4SE-1 100 7.0 1
» QT3 IMP: EW:0 3CE-1 50 70 1 » 98 IMP: EW:0 2HS-1 50 40 1
& AB52 » 98 4SN-1 100 40 1 ||a KQ83 # T652 3CXS-1 100 3.0 1
v4 v A98762 3SN-1 100 40 2 ||v QJ8 — v AKT 2HW2 110 3.0 1
o AJT ¢ 95 4SXN-1 200 20 1 ||e 865 * KJ9 1NE2 120 3.0 3
& AK954 » J76 3SN-2 200 20 2 ||a 753 » AQT 1NE3 4150 2.0 1
FOVAN A 00 6 o OVABN LA A 00 6
N ~2~1~ ¢ KQT53 4SN-3 3000 <10 1 |IN 1~~~ ~ o 75432 4CXS-2 300 -3.0 1
S ~2~1~ ¢87432 3NN-5 500 60 1 ||S 1 ~~~~ &74 3NE4 630 9.0 1
E 2~~~1 482 3HXS-2 500 60 2 ||E ~~~22 &KJ642 3NE3 600 9.0 4
W 3~~~ ~ 4SXN-3 800 -11.0 1 ~~~21
5HXS-4 1100 -13.0 1
# 17 & 98652 Mean: 4HW-1 50 80 2 ||# 18 a7 Mean: 4HN4 620 120 1
v AQ5 -300  3SN-1 50 6.0 1 v AKQJ9 20  3HN4 170 40 1
¢ 82 Dif: NS:0 3HE3 140 40 1 ¢ 9754 Dif: NS:0 4SXW-1 100 20 1
& KQ5 IMP: EW:0 2HW4 470 40 1 & AK4 IMP: EW:0 4SXE-1 100 20 4
a7 & AT43 A 00 6 ||as K52 & QJT963 4SE-1 50 1.0 1
v KJ8732 v T96 4HW4 420 -3.0 11| |e 5432 | v38 3SE-1 50 1.0 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 A 00 6
& AJ94 » 62 » 82 » QJ5 5HN-1 100 -3.0 2
P ¢ VAN o, KQJ oo VAN 4, A8 3HN-1 100 -3.0 1
N ~~~1~ o4 N 4~3~2 ¢T76 3SE3 140 40 3
S ~~~1~ ¢JT743 S 4~3~2 ¢63 4HN-2 200 -6.0 1
E ~~4~1 &T873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 Mean: 5CS5 400 60 1 |[|# 20 & AJT853 Mean: 3SN3 140 60 1
v AKJ 180  3NS3 400 6.0 1 v T 110  2SN3 140 6.0 1
«» Q954 Dif: NS:0 2sw-4 400 60 2 ¢ T7 Dif: NS:0 2SN2 110 60 5
» 6 IMP: EW:0 2SW-3 300 30 1 » KJ84 IMP: EW:0 2CN3 110 6.0 1
4 Q96532 a J7 A 0.0 6 ||a KQ72 a9 A 00 6
v Q9 v 87642 2DN6 170 0.0 1 ||v KJ3 _I_ v Q9872 3DW3 110 0.0 1
¢ J2 * KT7 3Cs5 150 1.0 1 ||e K8654 ¢ A93 2NE2 4120 0.0 1
® QJ3 » A92 2DN5 150 1.0 1 ||s » 9765 3HE4 470 220 1
FOVAN , 3DN3 110 20 1 F¢VAN 4064 2HW5 200 -3.0 1
N 44~~3 ¢T53 3CS4 130 20 1 ||N 2 ~~2 ~ v AB54 2SN-3 300 -5.0 1
S 34 ~~2 ¢A863 3CN4 130 20 1(|S 2~~2~ ¢QJ2 3NW3 -600 -10.0 1
E ~~~~~ & KT8754 2NN2 120 20 1||E ~34~1 &QT32 4HE4 620 -11.0 2
W ~ ~ ~ ~ ~ 2DN3 110 20 2 ~34~1
5DN-1 50 6.0 1
3NS-1 50 6.0 1




X AN >\ ¢ —_—
2 1NEFFr2ABEREFR e == R 2
. Q B .1 Zn N\ #2- :
#1: 9 BEAR(39.1) #2: 1 FE(31.04) #3: 16 prime(30.77)
20 NS: (BC) 0 19 NS: (F80)0 VP:| 10.00 : 10.00| Total VP: 20.00 Rank:
EW: (550)0 EW: (BiC) 0 IMP:| 0 0 9
—
# 11 » AKT864 A Mean: 5DXW-3 500 100 1 |[# 12 » 86 A Mean: 6HW-2 100 7.0 1
v 98 A 10  4HW-2 100 3.0 1 v QJ86 A 210 B6HW-1 50 60 9
92 Dif: 0 NS:0 4CE-2 100 3.0 1 ¢ 6 Dif: 0 NS:0 3HW4 470 1.0 1
» Q73 IMP: 0 EW:0 3NE-2 100 3.0 1 & QJT943 IMP: 0 EW:0 A 00 6
s Q5 » J93 2SN2 110 3.0 1 ||a AKQT9 a5 4HW5 450 6.0 1
v AKQJ6 v 74 4CE-1 50 1.0 1 ||w K743 I v AT52 3NE4 430 6.0 1
¢ QJB3 * K5 3NW-1 50 1.0 1||e9 ¢ AKT74 6HW6 980 -13.0 3
& JT & A86542 3CW-1 50 10 1 K8 & A72
F*OVABN 4,72 3CE-1 50 1.0 1 o ¢ VBN o J7432
N ~~~1~ 9T532 A 00 6(|N ~~~~~ v 9
S ~~~ 1~ ¢AT874 4SN-2 4100 30 1||S ~~~~~ ¢ QJ8532
E 2~2~1 aK9 3CW3 110 30 1||E ~~5~6 %6
W 2 ~2~1 2SN-2 4100 -3.0 1 ~~5~5
2HW2 110 -3.0 1
3SN-3 150 -40 1
3HW3 140  -40 1
2HW4 470 50 1
# 13 » J76 A Mean: 2HS2 110 120 1 ||# 14 o T987 A Mean: 5SE-2 100 30 1
v?2 A -600 3SW4 470 100 1 v AK3 A 10  4SE-1 50 20 1
¢ T8 Dif: 0 NS:0 A 00 6 ¢ K Dif: 0 NS:0 A 00 6
& QJ86532 IMP: 0 EW:0 4Sw4 620 -1.0 7 & K5432 IMP: 0 EW:0 3SE3 140 40 3
& AK954 N » QT82 4SE4 620 1.0 2 ||a a AKQJ543 4SE4 420 9.0 1
v 83 v QT76 4SE5 650 -20 1 ||e QJT9875 v6
+ KQ5 + ¢ A762 3NES -660 -2.0 1 ¢ AJB52 ¢ 73
& AT7 a9 5CXN-3  -800 5.0 1 |[|a&7 » A96
FOVAN 3 4SXW4 790 -50 1 *OVAN 462
N 2 ~ ~ ~ ~ » AKJ954 5HXS-4 -1100 110 1 [N 2~~~ ~ ¢ 42
S 2~~~ ~ ¢J943 S 2~~~~ ¢ QT984
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 A Mean: 3DS3 110 9.0 1 ||# 16 a J974 A Mean: 4SE-3 300 110 1
v A -260 5CW-2 100 80 1 96 A -210 4SE-2 200 9.0 1
«» KQ6 Dif: 0 NS:0 3CW-1 50 70 1 ¢ AQT32 Dif: 0 NS:0 4SE-1 100 7.0 1
» QT3 IMP: 0 EW:0 3CE-1 50 70 1 » 98 IMP: 0 EW:0 2HS-1 50 40 1
& AB52 » 98 4SN-1 100 40 1 ||a KQ83 # T652 3CXS-1 100 3.0 1
v4 v A98762 3SN-1 100 40 2 ||v QJ8 — v AKT 2HW2 110 3.0 1
o AJT ¢ 95 4SXN-1 200 20 1 ||e 865 * KJ9 1NE2 120 3.0 3
& AK954 » J76 3SN-2 200 20 2 ||a 753 » AQT 1NE3 4150 2.0 1
FOVAN A 00 6 o OVABN LA A 00 6
N ~2~1~ ¢ KQT53 4SN-3 3000 <10 1 |IN 1~~~ ~ o 75432 4CXS-2 300 -3.0 1
S ~2~1~ ¢87432 3NN-5 500 60 1 ||S 1 ~~~~ &74 3NE4 630 9.0 1
E 2~~~1 482 3HXS-2 500 60 2 ||E ~~~22 &KJ642 3NE3 600 9.0 4
W 3~~~ ~ 4SXN-3 800 -11.0 1 ~~~21
5HXS-4 1100 -13.0 1
# 17 & 98652 A Mean: 4HW-1 50 80 2 ||# 18 a7 A Mean: 4HN4 620 120 1
v AQ5 A -300 3SN-1 50 6.0 1 v AKQJ9 A 20 3HN4 170 40 1
¢ 82 Dif: 0 NS:0 3HE3 140 40 1 ¢ 9754 Dif: 0 NS:0 4SXW-1 100 20 1
& KQ5 IMP: 0 EW:0 2HW4 470 40 1 & AK4 IMP: 0 EW:0 4SXE-1 100 20 4
a7 & AT43 A 00 6 ||as K52 & QJT963 4SE-1 50 1.0 1
v KJ8732 v T96 4HW4 420 -3.0 11| |e 5432 | v38 3SE-1 50 1.0 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 A 00 6
& AJ94 » 62 » 82 » QJ5 5HN-1 100 -3.0 2
P ¢ VAN o, KQJ oo VAN 4, A8 3HN-1 100 -3.0 1
N ~~~1~ o4 N 4~3~2 ¢T76 3SE3 140 40 3
S ~~~1~ ¢JT743 S 4~3~2 63 4HN-2 200 -6.0 1
E ~~4~1 &T873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 A Mean: 5CS5 400 60 1 |([|# 20 & AJT853 A Mean: 3SN3 140 60 1
v AKJ A 180  3NS3 400 6.0 1 v T A -110  2SN3 140 6.0 1
+ Q954 Dif: 0 NS:0 2sw-4 400 60 2 ¢ T7 Dif: 0 NS:0 2SN2 110 60 5
» 6 IMP: 0 EW:0 2SW-3 300 30 1 » KJ84 IMP: 0 EW:0 2CN3 110 6.0 1
» Q96532 a J7 A 00 6 ||aKQ72 a9 A 00 6
v Q9 v 87642 2DN6 170 0.0 1 ||v KJ3 _I_ v Q9872 3DW3 110 0.0 1
¢ J2 * KT7 3Cs5 150 1.0 1 ||e K8654 * A93 2NE2 4120 0.0 1
® QJ3 » A92 2DN5 150 1.0 1 ||s » 9765 3HE4 470 220 1
FOVAN , 3DN3 110 20 1 *eVAN 4,064 2HW5 200 -3.0 1
N 44~~3 ¢T53 3CS4 130 20 1 [|N 2 ~~2 ~ v A654 2SN-3 300 -5.0 1
S 34 ~~2 ¢A863 3CN4 130 20 1(|S 2~~2~ ¢QJ2 3NW3 -600 -10.0 1
E ~~~~~ & KT8754 2NN2 120 20 1||E ~34~1 &QT32 4HE4 620 -11.0 2
W ~ ~ ~ ~ ~ 2DN3 110 20 2 ~34~1
5DN-1 50 6.0 1
3NS-1 50 6.0 1




X AN >\ ¢ —_—
2 1NEFFr2ABEREFR e == R 2
. Q B .1 Zn N\ #2- :
#1: 9 BEAR(39.1) #2: 1 FE(31.04) #3: 16 prime(30.77)
21 NS: (B80) 0 22 NS: (BAC) 0 VP:| 10.00 : 10.00| Total VP: 20.00 Rank:
EW: (HC) 0 EW: (F0) 0 IMP:] 0 : 0 9
—
# 11 » AKT864 Mean: 5DXW-3 500 10.0 1 |[# 12 » 86 Mean: 6HW-2 100 7.0 1
v 98 10 4HW-2 100 3.0 1 v QJ86 210 6HW-1 50 60 9
92 Dif: NS:0 4CE-2 100 3.0 1 ¢ 6 Dif: NS:0 3HW4 470 1.0 1
» Q73 IMP: EW:0 3NE-2 100 3.0 1 & QJT943 IMP: EW:0 A 00 6
s Q5 » J93 2SN2 110 3.0 1 ||a AKQT9 a5 4HW5 450 6.0 1
v AKQJ6 v 74 4CE-1 50 1.0 1 ||w K743 I v AT52 3NE4 430 6.0 1
+ QJ63 * K5 3NW-1 50 1.0 1||e9 ¢ AKT74 6HW6 980 -13.0 3
& JT & A86542 3CW-1 50 10 1 K8 & A72
F*OVABN 4,72 3CE-1 50 1.0 1 o ¢ VBN o J7432
N ~~~1~ 9T532 A 00 6 (IN ~~~~~ v9
S ~~~ 1~ ¢AT874 4SN-2 4100 30 1||S ~~~~~ ¢ QJ8532
E 2~2~1 aK9 3CW3 110 30 1||E ~~5~6 &6
W 2 ~2~1 2SN-2 4100 -3.0 1 ~~5~5
2HW2 110 -3.0 1
3SN-3 150 -40 1
3HW3 140  -40 1
2HW4 470 50 1
# 13 » J76 Mean: 2HS2 110 120 1 ||# 14 o T987 Mean: 5SE-2 100 30 1
v?2 600  3SW4 470 100 1 v AK3 10  4SE-1 50 20 1
¢ T8 Dif: NS:0 A 00 6 ¢ K Dif: NS:0 A 00 6
& QJ86532 IMP: EW:0 4sw4 620 -1.0 7 & K5432 IMP: EW:0 3SE3 140 40 3
& AK954 N » QT82 4SE4 620 1.0 2 ||a a AKQJ543 4SE4 420 9.0 1
v 83 v QT76 4SE5 650 -20 1 ||e QJT9875 v6
+ KQ5 + ¢ A762 3NES 660 -2.0 1 ¢ AJB52 ¢ 73
& AT7 a9 5CXN-3  -800 5.0 1 |[|a&7 » A96
FOVAN 3 4SXW4 790 -50 1 *OVAN 462
N 2 ~ ~ ~ ~ » AKJ954 5HXS-4 1100 -11.0 1 |IN 2 ~ ~ ~ ~ ¢ 42
S 2~~~ ~ ¢J943 S 2~~~~ ¢ QT984
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 Mean: 3DS3 110 9.0 1 ||# 16 » J974 Mean: 4SE-3 300 110 1
v 260  5CW-2 100 80 1 96 210  4SE-2 200 9.0 1
«» KQ6 Dif: NS:0 3CW-1 50 70 1 ¢ AQT32 Dif: NS:0 4SE-1 100 7.0 1
» QT3 IMP: EW:0 3CE-1 50 70 1 » 98 IMP: EW:0 2HS-1 50 40 1
& AB52 » 98 4SN-1 100 40 1 ||a KQ83 # T652 3CXS-1 100 3.0 1
v4 v A98762 3SN-1 100 40 2 ||v QJ8 — v AKT 2HW2 110 3.0 1
o AJT ¢ 95 4SXN-1 200 20 1 ||e 865 * KJ9 1NE2 120 3.0 3
& AK954 » J76 3SN-2 200 20 2 ||a 753 » AQT 1NE3 4150 2.0 1
FOVAN A 00 6 o OVABN LA A 00 6
N ~2~1~ ¢ KQT53 4SN-3 3000 <10 1 |IN 1~~~ ~ o 75432 4CXS-2 300 -3.0 1
S ~2~1~ ¢87432 3NN-5 500 60 1 ||S 1 ~~~~ &74 3NE4 630 9.0 1
E 2~~~1 482 3HXS-2 500 60 2 ||E ~~~22 &KJ642 3NE3 600 9.0 4
W 3~~~ ~ 4SXN-3 800 -11.0 1 ~~~21
5HXS-4 1100 -13.0 1
# 17 & 98652 Mean: 4HW-1 50 80 2 ||# 18 a7 Mean: 4HN4 620 120 1
v AQ5 -300  3SN-1 50 6.0 1 v AKQJ9 20  3HN4 170 40 1
¢ 82 Dif: NS:0 3HE3 140 40 1 ¢ 9754 Dif: NS:0 4SXW-1 100 20 1
& KQ5 IMP: EW:0 2HW4 470 40 1 & AK4 IMP: EW:0 4SXE-1 100 20 4
a7 & AT43 A 00 6 ||as K52 & QJT963 4SE-1 50 1.0 1
v KJ8732 v T96 4HW4 420 -3.0 11| |e 5432 | v38 3SE-1 50 1.0 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 A 00 6
& AJ94 » 62 » 82 » QJ5 5HN-1 100 -3.0 2
P ¢ VAN o, KQJ oo VAN 4, A8 3HN-1 100 -3.0 1
N ~~~1~ o4 N 4~3~2 ¢T76 3SE3 140 40 3
S ~~~1~ ¢JT743 S 4~3~2 ¢63 4HN-2 200 -6.0 1
E ~~4~1 &T873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 Mean: 5CS5 400 60 1 |[|# 20 & AJT853 Mean: 3SN3 140 60 1
v AKJ 180  3NS3 400 6.0 1 v T 110  2SN3 140 6.0 1
«» Q954 Dif: NS:0 2sw-4 400 60 2 ¢ T7 Dif: NS:0 2SN2 110 60 5
» 6 IMP: EW:0 2SW-3 300 30 1 » KJ84 IMP: EW:0 2CN3 110 6.0 1
4 Q96532 a J7 A 0.0 6 ||a KQ72 a9 A 00 6
v Q9 v 87642 2DN6 170 0.0 1 ||v KJ3 _I_ v Q9872 3DW3 110 0.0 1
¢ J2 * KT7 3Cs5 150 1.0 1 ||e K8654 ¢ A93 2NE2 4120 0.0 1
® QJ3 » A92 2DN5 150 1.0 1 ||s » 9765 3HE4 470 220 1
FOVAN , 3DN3 110 20 1 F¢VAN 4064 2HW5 200 -3.0 1
N 44~~3 ¢T53 3CS4 130 20 1 ||N 2 ~~2 ~ v AB54 2SN-3 300 -5.0 1
S 34 ~~2 ¢A863 3CN4 130 20 1(|S 2~~2~ ¢QJ2 3NW3 -600 -10.0 1
E ~~~~~ & KT8754 2NN2 120 20 1||E ~34~1 &QT32 4HE4 620 -11.0 2
W ~ ~ ~ ~ ~ 2DN3 110 20 2 ~34~1
5DN-1 50 6.0 1
3NS-1 50 6.0 1




X AN >\ ¢ —_—
2 1NEFFr2ABEREFR e == R 2
AYA 4 n M .
#1: 9 BEAR(39.1) #2: 1 FE(31.04) #3: 16 prime(30.77)
22 NS: (BC) 0 21 NS: (F80)0 VP:| 10.00 : 10.00| Total VP: 20.00 Rank:
EW: (550)0 EW: (BiC) 0 IMP:| 0 0 9
—
# 11 » AKT864 A Mean: 5DXW-3 500 100 1 |[# 12 » 86 A Mean: 6HW-2 100 7.0 1
v 98 A 10  4HW-2 100 3.0 1 v QJ86 A 210 B6HW-1 50 60 9
92 Dif: 0 NS:0 4CE-2 100 3.0 1 ¢ 6 Dif: 0 NS:0 3HW4 470 1.0 1
» Q73 IMP: 0 EW:0 3NE-2 100 3.0 1 & QJT943 IMP: 0 EW:0 A 00 6
s Q5 » J93 2SN2 110 3.0 1 ||a AKQT9 a5 4HW5 450 6.0 1
v AKQJ6 v 74 4CE-1 50 1.0 1 ||w K743 I v AT52 3NE4 430 6.0 1
¢ QJB3 * K5 3NW-1 50 1.0 1||e9 ¢ AKT74 6HW6 980 -13.0 3
& JT & A86542 3CW-1 50 10 1 K8 & A72
F*OVABN 4,72 3CE-1 50 1.0 1 o ¢ VBN o J7432
N ~~~1~ 9T532 A 00 6(|N ~~~~~ v 9
S ~~~ 1~ ¢AT874 4SN-2 4100 30 1||S ~~~~~ ¢ QJ8532
E 2~2~1 aK9 3CW3 110 30 1||E ~~5~6 %6
W 2 ~2~1 2SN-2 4100 -3.0 1 ~~5~5
2HW2 110 -3.0 1
3SN-3 150 -40 1
3HW3 140  -40 1
2HW4 470 50 1
# 13 » J76 A Mean: 2HS2 110 120 1 ||# 14 o T987 A Mean: 5SE-2 100 30 1
v?2 A -600 3SW4 470 100 1 v AK3 A 10  4SE-1 50 20 1
¢ T8 Dif: 0 NS:0 A 00 6 ¢ K Dif: 0 NS:0 A 00 6
& QJ86532 IMP: 0 EW:0 4Sw4 620 -1.0 7 & K5432 IMP: 0 EW:0 3SE3 140 40 3
& AK954 N » QT82 4SE4 620 1.0 2 ||a a AKQJ543 4SE4 420 9.0 1
v 83 v QT76 4SE5 650 -20 1 ||e QJT9875 v6
+ KQ5 + ¢ A762 3NE5 -660 -2.0 1 ¢ AJB52 ¢ 73
& AT7 a9 5CXN-3  -800 5.0 1 |[|a&7 » A96
FOVAN 3 4SXW4 790 -50 1 *OVAN 462
N 2 ~ ~ ~ ~ » AKJ954 5HXS-4 -1100 110 1 [N 2~~~ ~ ¢ 42
S 2~~~ ~ ¢J943 S 2~~~~ ¢ QT984
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 A Mean: 3DS3 110 9.0 1 ||# 16 a J974 A Mean: 4SE-3 300 110 1
v A -260 5CW-2 100 80 1 96 A -210 4SE-2 200 9.0 1
«» KQ6 Dif: 0 NS:0 3CW-1 50 70 1 ¢ AQT32 Dif: 0 NS:0 4SE-1 100 7.0 1
» QT3 IMP: 0 EW:0 3CE-1 50 70 1 » 98 IMP: 0 EW:0 2HS-1 50 40 1
& AB52 » 98 4SN-1 100 40 1 ||a KQ83 # T652 3CXS-1 100 3.0 1
v4 v A98762 3SN-1 100 40 2 ||v QJ8 — v AKT 2HW2 110 3.0 1
o AJT ¢ 95 4SXN-1 200 20 1 ||e 865 * KJ9 1NE2 120 3.0 3
& AK954 » J76 3SN-2 200 20 2 ||a 753 » AQT 1NE3 4150 2.0 1
FOVAN A 00 6 o OVABN LA A 00 6
N ~2~1~ ¢ KQT53 4SN-3 3000 <10 1 |IN 1~~~ ~ o 75432 4CXS-2 300 -3.0 1
S ~2~1~ ¢87432 3NN-5 500 60 1 ||S 1 ~~~~ &74 3NE4 630 9.0 1
E 2~~~1 482 3HXS-2 500 60 2 ||E ~~~22 &KJ642 3NE3 600 9.0 4
W 3~~~ ~ 4SXN-3 800 -11.0 1 ~~~21
5HXS-4 1100 -13.0 1
# 17 & 98652 A Mean: 4HW-1 50 80 2 ||# 18 a7 A Mean: 4HN4 620 120 1
v AQ5 A -300 3SN-1 50 6.0 1 v AKQJ9 A 20 3HN4 170 40 1
¢ 82 Dif: 0 NS:0 3HE3 140 40 1 ¢ 9754 Dif: 0 NS:0 4SXW-1 100 20 1
& KQ5 IMP: 0 EW:0 2HW4 470 40 1 & AK4 IMP: 0 EW:0 4SXE-1 100 20 4
a7 & AT43 A 00 6 ||as K52 & QJT963 4SE-1 50 1.0 1
v KJ8732 v T96 4HW4 420 -3.0 11| |e 5432 | v38 3SE-1 50 1.0 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 A 00 6
& AJ94 » 62 » 82 » QJ5 5HN-1 100 -3.0 2
P VAN ,KQJ oo VAN 4, A8 3HN-1 100 -3.0 1
N ~~~1~ o4 N 4~3~2 ¢T76 3SE3 140 40 3
S ~~~1~ ¢JT743 S 4~3~2 63 4HN-2 200 -6.0 1
E ~~4~1 &T873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 A Mean: 5CS5 400 60 1 |([|# 20 & AJT853 A Mean: 3SN3 140 60 1
v AKJ A 180  3NS3 400 6.0 1 v T A -110  2SN3 140 6.0 1
+ Q954 Dif: 0 NS:0 2sw-4 400 60 2 ¢ T7 Dif: 0 NS:0 2SN2 110 60 5
» 6 IMP: 0 EW:0 2SW-3 300 30 1 » KJ84 IMP: 0 EW:0 2CN3 110 6.0 1
» Q96532 a J7 A 00 6 ||aKQ72 a9 A 00 6
v Q9 v 87642 2DN6 170 0.0 1 ||v KJ3 _I_ v Q9872 3DW3 110 0.0 1
¢ J2 * KT7 3Cs5 150 1.0 1 ||e K8654 * A93 2NE2 4120 0.0 1
® QJ3 » A92 2DN5 150 1.0 1 ||s » 9765 3HE4 470 220 1
FOVAN , 3DN3 110 20 1 *eVAN 4,064 2HW5 200 -3.0 1
N 44~~3 ¢T53 3CS4 130 20 1 [|N 2 ~~2 ~ v A654 2SN-3 300 -5.0 1
S 34 ~~2 ¢A863 3CN4 130 20 1(|S 2~~2~ ¢QJ2 3NW3 -600 -10.0 1
E ~~~~~ & KT8754 2NN2 120 20 1||E ~34~1 &QT32 4HE4 620 -11.0 2
W ~ ~ ~ ~ ~ 2DN3 110 20 2 ~34~1
5DN-1 50 6.0 1
3NS-1 50 6.0 1




